

### **BID FORM**

Quality Enterprises USA, Inc.

## CITY OF VENICE DOWNTOWN ROADWAY CORRIDOR IMPROVEMENTS RE-BID

### TABLE OF ARTICLES

- 1. Bid Recipient
- 2. Bidder's Acknowledgements
- 3. Bidder's Representations
- 4. Bidder's Certifications
- 5. Basis of Bid
- 6. Time of Completion
- 7. Attachments to this Bid
- 8. Defined Terms
- 9. Bid Submittal
- 10. Required Forms

## **ARTICLE 1 - BID RECIPIENT**

1.01 The undersigned Bidder proposes and agrees, if this Bid is accepted, to enter into an AGREEMENT with OWNER in the form included in the Bidding Documents to perform all Work as specified or indicated in the Bidding Documents for the price(s) and within the times indicated in this Bid and in accordance with the Bidding Documents.

## <u>ARTICLE 2 - BIDDER'S ACKNOWLEDGEMENTS</u>

2.01 Bidder accepts all of the terms and conditions of the Advertisement or Invitation to Bid and Instructions to Bidders, including without limitation those dealing with the disposition of Bid security. This Bid will remain subject to acceptance for 90 days after the Bid opening, or for such longer period of time that Bidder may agree to in writing upon request of OWNER. Bidder will sign the AGREEMENT and will furnish the required contract security, and other required documents within the time periods set forth in the Bidding Documents.

## <u>ARTICLE 3 - BIDDER'S REPRESENTATIONS</u>

3.01 In submitting this Bid, Bidder represents that:

A. Bidder has examined and carefully studied the Bidding Documents, the other related data identified in the Bidding Documents, if any, and the following Addenda, receipt of all of which is hereby acknowledged.

Addendum No.	Date Received	Addendum No.	Date Received
1	4/6/18	- :	
2	4/24/18		

- B. Bidder has visited the Site and become familiar with and is satisfied as to the general, local and Site conditions that may affect cost, progress, and performance of the Work.
- C. Bidder is familiar with and is satisfied as to all federal, state and local Laws and Regulations that may affect cost, progress and performance of the Work.
- D. Bidder has carefully studied all: (1) reports of explorations and tests of subsurface conditions at or contiguous to the Site and all drawings of physical conditions in or relating to existing surface or subsurface structures at or contiguous to the Site (except Underground Facilities) which have been identified in the Supplementary Conditions as provided in Paragraph 4.02 of the General Conditions, and (2) reports and drawings of Hazardous Environmental Conditions identified at the Site, if any, which that have been identified in the Supplementary Conditions as provided in Paragraph 4.06 of the General Conditions.
- E. Bidder has obtained and carefully studied (or accepts the consequences for not doing so) all additional or supplementary examinations, investigations, explorations, tests, studies and data concerning conditions (surface, subsurface and Underground Facilities) at or contiguous to the Site which may affect cost, progress or performance of the Work or which relate to any aspect of the means, methods, techniques, sequences and procedures of construction to be employed by Bidder, including applying the specific means, methods, techniques, sequences, and procedures of construction expressly required by the Bidding Documents to be employed by Bidder, and safety precautions and programs incident thereto.
- F. Bidder does not consider that any further examinations, investigations, explorations, tests, studies or data are necessary for the determination of this Bid for performance of the Work at the price(s) bid and within the times and in accordance with the other terms and conditions of the Bidding Documents.
- G. Bidder is aware of the general nature of work (if any) to be performed by OWNER and others at the Site that relates to the Work as indicated in the Bidding Documents.

018 "4

- H. Bidder has correlated the information known to Bidder, information and observations obtained from visits to the Site, reports and drawings identified in the Bidding Documents, and all additional examinations, investigations, explorations, tests, studies and data with the Bidding Documents.
- I. Bidder has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Bidder has discovered in the Bidding Documents, and the written resolution thereof by Engineer is acceptable to Bidder.
- J. The Bidding Documents are generally sufficient to indicate and convey understanding of all terms and conditions for the performance of the Work for which this Bid is submitted.

## 3.02 Bidder further represents that:

- A. this Bid is genuine and is not made in the interest of or on behalf of any undisclosed individual or entity and is not submitted in conformity with any agreement or rules of any group, association, organization or corporation;
- B. Bidder has not directly or indirectly induced or solicited any other Bidder to submit a false or sham Bid; Bidder has not solicited or induced any individual or entity to refrain from bidding;
- C. Bidder has not sought by collusion to obtain for itself any advantage over any other Bidder or over OWNER; and
- D. No person or persons acting in any official capacity for the OWNER are directly or indirectly interested in this Bid, or in any portion of the profit thereof.

## <u>ARTICLE 4 – BIDDER'S CERTIFICATIONS</u>

#### 4.01 Bidder certifies that:

- A. this Bid is genuine and is not made in the interest of or on behalf of any undisclosed individual or entity and is not submitted in conformity with any agreement or rules of any group, association, organization or corporation;
- B. Bidder has not directly or indirectly induced or solicited any other Bidder to submit a false or sham Bid
- C. Bidder; has not solicited or induced any individual or entity to refrain from bidding; and
- D. Bidder has not engaged in corrupt, fraudulent, collusive or coercive practices in competing for the Contract. For the purposes of the Paragraph 4.01.D;

- 1. Corrupt practice" means the offering, giving, or soliciting of anything of value likely to influence the action of a public official in the bidding process
- 2. "Fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process to the detriment of Owner, (b) to establish bid prices at artificial non-competitive levels, or (c) to deprive Owner of the benefits of free and open competition.
- 3. "Collusive practice" means to scheme or arrangement between two or more Bidders, with or without the knowledge of Owner, a purpose of which is to establish bid prices at artificial, non-competitive levels.
- 4. "Coercive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

## ARTICLE 5 - BASIS OF BID

- 5.01 Bidder will complete the Work in accordance with the Contract Documents for the following price(s):
- 5.02 Unit prices have been computed in accordance with Paragraph 11.03.B of the General Conditions.
- 5.03 Bidder acknowledges that estimated quantities of items of Unit Price Work are not guaranteed and are solely for the purpose of comparison of Bids, and final payment for all Unit Price items will be based on actual quantities of Unit Price Work determined as provided in the Contract Documents.
- 5.04 All specified cash allowances are included in the price(s) set forth above and have been completed in accordance with Paragraph 11.02 of the General Conditions.

## ARTICLE 6 - TIME OF COMPLETION

- 6.01 Bidder agrees that the Work will be substantially complete within 210 calendar days after the date when the Contract Times commence to run as provided in Paragraph 2.03 of the General Conditions, and will be completed and ready for final payment in accordance with paragraph 14.07.B of the General Conditions within 240 calendar days after the date when the Contract Times commence to run, which days will be entered by OWNER into the AGREEMENT as the Contract Times.
- 6.02 Bidder accepts the provisions of the AGREEMENT as to liquidated and special damages, if any, in the event of failure to complete the Work within the Contract Times.

## ARTICLE 7 - ATTACHMENTS TO THIS BID

- 7.01 The following documents are attached to and made a condition of this Bid:
  - A. Required Bid security.
  - B. Required Bidder Qualifications Statement with supporting data.
  - C. Miscellaneous Bid Forms

## **ARTICLE 8 - DEFINED TERMS**

8.01 The terms used in this Bid with initial capital letters have the meanings stated in the Instructions to Bidders and the General Conditions, Supplementary and Special Conditions.

### ARTICLE 9 - BID SUBMITTAL

This Bid submitted on April 27, 20 18 by: 9.01 If Bidder is: <u>Individual</u> Name (Typed or Printed): (Individual's Signature) Doing business as\_\_\_\_\_ License or Registration Number: Business Address: Phone No.: Facsimile: A Partnership Partnership Name: (Signature of General Partner - Attach evidence of authority to sign) (Name (Typed or Printed): License or Registration Number: Business Address: Phone No.: Facsimile:

## A Corporation Corporation Name: Quality Enterprises USA, Inc. Virginia (State of Incorporation) (Signature - Attach evidence of authority to sign) Name and Title (Typed or Printed): Louis J. Gaudio, Vice President (CORPORATE SEAL) License or Registration Number: CBCA57231, CUC057398 3494 Shearwater Street Business Address: Naples, Florida 34117-8414 Phone No.: 239-435-7200 Facsimile: 239-435-7202 Limited Liability Company By:\_\_ (Firm Name) (State of Formation)

(Printed or Typed Name and Title of Member Authorized to Sign) (Attach evidence of authority to sign.)

(Signature of Member/Authorized to Sign)

## UNANIMOUS WRITTEN CONSENT IN LIEU OF THE 2018 ANNUAL MEETING OF THE BOARD OF DIRECTORS OF QUALITY ENTERPRISES USA, INC.

The undersigned, being all the directors of Quality Enterprises USA, Inc. (the "Corporation"), pursuant to Virginia Code Section 13.1-685, hereby approve and consent to the following actions in lieu of the Annual Meeting of the Board of Directors:

WAIVER OF NOTICE: Execution of this Written Consent will constitute full waiver of notice of the Annual Meeting of the Board of Directors of the Corporation for the year 2018.

ELECTION OF OFFICERS: The following persons are elected to the offices following their names to serve until the expiration of their terms at the next annual meeting of the Board of Directors, or until their successors shall be duly elected and qualified:

> Howard J. Murrell, Jr. Louis J Gaudio

President Vice President

Allison B. Murrell Stacey L. Murrell

Corporate Officer/Asst Secretary

Secretary

WHEREAS, the Directors believe it is in the best interest of the Company to grant, without limitation, signing authority and the authority to conduct business on behalf of the Company to each of the following Officers:

Howard J. Murrell, Jr., President

WHEREAS, the Directors believe it is in the best interest of the Company to grant authority to enter into and sign contracts on behalf of the Company to each of the following Officers:

Louis J. Gaudio

Vice President

Allison B. Murrell

Corporate Officer/Asst Secretary

Stacey L. Murrell

Secretary

RATIFICATION: All acts taken on behalf of the Corporation by the Corporation's officers since the last meeting of the Board of Directors are hereby ratified and approved.

MINUTES: This Unanimous Consent shall be filed with and become a part of the Minutes of the Corporation.

Effective date: January 1, 2018



Business Address:	License or Registration 1	Number:	
Phone No.:	Business Address:		
Name of Joint Venture:  First Joint Venturer Name:  By:  (Signature of First Joint Venturer - Attach evidence of authority to sign)  Name (Typed or Printed):  (Title)  Title:  Second Joint Venturer Name:  By:  (Signature of Second Joint Venturer - Attach evidence of authority to sign)  Name (Typed or Printed):  (Title)  (Title)  (Title)  (Each joint venturer must sign. The manner of signing for each individual, partnership, corporation of limited liability company that is a party to the joint venture shall be in the manner indicated above).  Business Address:  Phone and FAX number and address for receipt of communications to joint venture:			
Name of Joint Venturer:  First Joint Venturer Name:  By:  (Signature of First Joint Venturer - Attach evidence of authority to sign)  Name (Typed or Printed):  (Title)  Title:  Second Joint Venturer Name:  By:  (Signature of Second Joint Venturer - Attach evidence of authority to sign)  Name (Typed or Printed):  (Title)  (Title)  (Each joint venturer must sign. The manner of signing for each individual, partnership, corporation of limited liability company that is a party to the joint venture shall be in the manner indicated above).  Business Address:  Phone and FAX number and address for receipt of communications to joint venture:	Phone No.:	Facsimile:	
By:	A Joint Venture		
By:	Name of Joint Venture:_		
Name (Typed or Printed):	First Joint Venturer Nam	ne:	
Second Joint Venturer Name:  By:  (Signature of Second Joint Venturer - Attach evidence of authority to sign)  Name (Typed or Printed):  (Title)  (Each joint venturer must sign. The manner of signing for each individual, partnership, corporation of limited liability company that is a party to the joint venture shall be in the manner indicated above).  Business Address:  Phone and FAX number and address for receipt of communications to joint venture:	By:(Signature of Fig	rst Joint Venturer - Attach evidence of authority to sign)	
Second Joint Venturer Name:  By:  (Signature of Second Joint Venturer - Attach evidence of authority to sign)  Name (Typed or Printed):  (Title)  (Each joint venturer must sign. The manner of signing for each individual, partnership, corporation of limited liability company that is a party to the joint venture shall be in the manner indicated above).  Business Address:  Phone and FAX number and address for receipt of communications to joint venture:	Name (Typed or Printed)	):	-
Second Joint Venturer Name:  By:  (Signature of Second Joint Venturer - Attach evidence of authority to sign)  Name (Typed or Printed):  (Title)  (Each joint venturer must sign. The manner of signing for each individual, partnership, corporation of limited liability company that is a party to the joint venture shall be in the manner indicated above).  Business Address:  Phone and FAX number and address for receipt of communications to joint venture:			_
Name (Typed or Printed): (Title)  (Each joint venturer must sign. The manner of signing for each individual, partnership, corporation of limited liability company that is a party to the joint venture shall be in the manner indicated above).  Business Address:  Phone and FAX number and address for receipt of communications to joint venture:	Second Joint Venturer N	ame:	-
Name (Typed or Printed): (Title)  (Each joint venturer must sign. The manner of signing for each individual, partnership, corporation of limited liability company that is a party to the joint venture shall be in the manner indicated above).  Business Address:  Phone and FAX number and address for receipt of communications to joint venture:	Ву:		
(Each joint venturer must sign. The manner of signing for each individual, partnership, corporation of limited liability company that is a party to the joint venture shall be in the manner indicated above).  Business Address:  Phone and FAX number and address for receipt of communications to joint venture:			
limited liability company that is a party to the joint venture shall be in the manner indicated above).  Business Address:  Phone and FAX number and address for receipt of communications to joint venture:	Name (Typed or Printed)	(Title)	_
Phone and FAX number and address for receipt of communications to joint venture:	(Each joint venturer must limited liability company	at sign. The manner of signing for each individual, partnership, or that is a party to the joint venture shall be in the manner indicates	corporation or ted above).
	Business Address:		-
	Phone and FAX number	and address for receipt of communications to joint venture:	
Phone:Facsimile:	Phone:	Facsimile:	-

## <u>ARTICLE 10 – REQUIRED FORMS</u>

## Required Forms Check List: ITB# 3084-18: DOWNTOWN ROADWAY CORRIDOR IMPROVEMENTS RE-BID

- Proposal Bond
- o Qualifications Statement
- o Cooperative Procurement with Other Jurisdictions
- o Form 3A- Interest in Competitive Bid for Public Business
- Indemnification/Hold Harmless
- o FDEP & U.S. EPA Construction Notices of Intent (NOI)
- o City of Venice Ordinance 95-12
- o City of Venice Ordinance 96-09
- o Statement of References for Contractor
- o Contractor's Statement of Sub-contractors
- o Drug Free Workplace Certification
- o Non-Collusive Declaration and Compliance with 49 CFR §29
- o Public Entity Crime Information
- o Certification for Disclosure of Lobbying Activities on Federal-Aid Contracts
- o Disclosure of Lobbying Activities
- o Certification Regarding Debarment, Suspension, Ineligibility and Voluntary Exclusion
- o Conflict of Interest/Confidentiality Certification
- o MBE Planned Utilization
- o LAP Certification of Current Capacity Form 525-010-46
- o E-Verify
- O Bid Schedule
- O No-Bid Response (if applicable)

All required forms are included in this package. All forms must be filled out and returned with the firm's proposal.

Failure to do so will result in the firm being considered non-responsive and their proposal will be disallowed.

Mark N/A if not applicable to your firm

## PROPOSAL BOND

\*Not to be completed if a certified check is submitted.

KNOW ALL MEN BY THESE PRESENTS: That we, the u	undersigned,
Quality Enterprises USA, Inc.	_as Principal,
and Fidelity and Deposit Company of Maryland	as Surety
are held and firmly bound unto the City of Venice, Florida, i	n the sum of
-Five-Percent-of-Amount-Bid \$ 5%-of-Bi	id-, for the payment of which, wel
and truly to be made, we hereby jointly and severally bind ou successors and assigns.	urselves, our heirs, executors, administrators
The condition of the above obligation is such that if the attach specified as:	ed Proposal of Principal and Surety for work
Downtown Roadway Corridor Improvements Re-Bid - Solicitation	n Number: 3084-18
all as stipulated in said Proposal, by doing all work incident specifications provided heretofore, all within Sarasota Count (10) days after notice of said award, enter into a contract, in w Bond with surety or sureties to be approved by the Director otherwise the same shall be in full force and virtue by law an be paid to the City as stipulated or liquidated damages.	y, is accepted and the bidder shall within ter riting, and furnish the required Performance of Purchasing, this obligation shall be void
Signed this 25th day of April , 20	18.
Quality Enterprises USA, Inc. Fidelity and Dep	osit Company of Maryland
V.P. Dennik	Strawhard
Principal Louis J. Gaudio Surety 7 Vice President	Dicushand Ferri K. Strawhand Attorney-in-Fact
Principal must indicate whether corporation, partnership	o, company, or individual.
The person signing shall, in his own handwriting, sign the Pri The person signing for a corporation must, by affidavit, show	incipal's name, his own name, and his title.  his authority to bind the corporation.

#### **ZURICH AMERICAN INSURANCE COMPANY** COLONIAL AMERICAN CASUALTY AND SURETY COMPANY FIDELITY AND DEPOSIT COMPANY OF MARYLAND POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That the ZURICH AMERICAN INSURANCE COMPANY, a corporation of the State of New York, the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, a corporation of the State of Maryland, and the FIDELITY AND DEPOSIT COMPANY OF MARYLAND a corporation of the State of Maryland (herein collectively called the "Companies"), by MICHAEL BOND, Vice President, in pursuance of authority granted by Article V, Section 8, of the By-Laws of said Companies, which are set forth on the reverse side hereof and are hereby certified to be in full force and effect on the date hereof, do hereby nominate, constitute, and appoint Mark C. BUNDY, Tammy A. WARD, Terri K. STRAWHAND, Daniel J. GRYGO and Kathryn SNELL, all of Virginia Beach, Virginia, EACH its true and lawful agent and Attorney-in-Fact, to make, execute, seal and deliver, for, and on its behalf as surety, and as its act and deed: any and all bonds and undertakings, and the execution of such bonds or undertakings in pursuance of these presents, shall be as binding upon said Companies, as fully and amply, to all intents and purposes, as if they had been duly executed and acknowledged by the regularly elected officers of the ZURICH AMERICAN INSURANCE COMPANY at its office in New York, New York., the regularly elected officers of the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY at its office in Owings Mills, Maryland., and the regularly elected officers of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND at its office in Owings Mills, Maryland., in their own proper persons.

The said Vice President does hereby certify that the extract set forth on the reverse side hereof is a true copy of Article V, Section 8, of the By-Laws of said Companies, and is now in force.

IN WITNESS WHEREOF, the said Vice-President has hereunto subscribed his/her names and affixed the Corporate Seals of the said ZURICH AMERICAN INSURANCE COMPANY, COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, and FIDELITY AND DEPOSIT COMPANY OF MARYLAND, this 26th day of June, A.D. 2017.

ATTEST:

**ZURICH AMERICAN INSURANCE COMPANY** COLONIAL AMERICAN CASUALTY AND SURETY COMPANY FIDELITY AND DEPOSIT COMPANY OF MARYLAND







Secretary

Michael McKibben

Vice President Michael Bond

### State of MarylandFOR YOUR PROTECTION,

County of Baltimore LOOK FOR THE ZURICH WATERMARK

On this 26th day of June, A.D. 2017, before the subscriber, a Notary Public of the State of Maryland, duly commissioned and qualified, MICHAEL BOND, Vice President, and MICHAEL MCKIBBEN, Secretary, of the Companies, to me personally known to be the individuals and officers described in and who executed the preceding instrument, and acknowledged the execution of same, and being by me duly sworn, deposeth and saith, that he/she is the said officer of the Company aforesaid, and that the seals affixed to the preceding instrument are the Corporate Seals of said Companies, and that the said Corporate Seals and the signature as such officer were duly affixed and subscribed to the said instrument by the authority and direction of the said Corporations.

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed my Official Seal the day and year first above written.

Constance A. Dunn, Notary Public My Commission Expires: July 9, 2019

# UNANIMOUS WRITTEN CONSENT IN LIEU OF THE 2018 ANNUAL MEETING OF THE BOARD OF DIRECTORS OF QUALITY ENTERPRISES USA, INC.

The undersigned, being all the directors of Quality Enterprises USA, Inc. (the "Corporation"), pursuant to Virginia Code Section 13.1-685, hereby approve and consent to the following actions in lieu of the Annual Meeting of the Board of Directors:

<u>WAIVER OF NOTICE</u>: Execution of this Written Consent will constitute full waiver of notice of the Annual Meeting of the Board of Directors of the Corporation for the year 2018.

<u>ELECTION OF OFFICERS:</u> The following persons are elected to the offices following their names to serve until the expiration of their terms at the next annual meeting of the Board of Directors, or until their successors shall be duly elected and qualified:

Howard J. Murrell, Jr. Louis J Gaudio

Allison B. Murrell

Stacey L. Murrell

President

Vice President

Corporate Officer/Asst Secretary

Secretary

WHEREAS, the Directors believe it is in the best interest of the Company to grant, without limitation, signing authority and the authority to conduct business on behalf of the Company to each of the following Officers:

Howard J. Murrell, Jr., President

WHEREAS, the Directors believe it is in the best interest of the Company to grant authority to enter into and sign contracts on behalf of the Company to each of the following Officers:

Louis J. Gaudio

Vice President

Allison B. Murrell

Corporate Officer/Asst Secretary

Stacey L. Murrell

Secretary

<u>RATIFICATION:</u> All acts taken on behalf of the Corporation by the Corporation's officers since the last meeting of the Board of Directors are hereby ratified and approved.

MINUTES: This Unanimous Consent shall be filed with and become a part of the Minutes of the Corporation.

Effective date: January 1, 2018

1123/18

Date signed

Howard J. Murrell, Jr.



## **QUALIFICATIONS STATEMENT**

The undersigned certifies under oath the truth and correctness of all statements and all answers to questions made hereinafter:

<u>SUBMITT</u>	ED TO	<u>):</u>	CITY OF VENICE Procurement- Finar 401 W. Venice Ave Venice, Florida 342	nce Department enue	CHECK ONE:  Corporation Partnership Individual Joint Venture
SUBMITT	ED BY	<u>(:</u>			Other
NAME: ADDRESS PRINCIPL		ICE:	Quality Ente 3494 Shearwa Same	rprises USA, ter Street, N	Inc. aples, FL 34117-8414
			ect and complete lega ddress of the place of		ship, corporation, trade or fictitious name under which
The c	orrect i	name of	the Offeror is:		Quality Enterprises USA, Inc.
		-	principal place of bus		3494 Shearwater Street Naples, FL 34117-8414
If the Offer	or is a	corpora	tion, answer the follo	owing:	
a.	Date	of Inc	orporation:	8/2/73	······
b.	State	e of Inc	orporation:	Virginia	
c.	Pres	ident's	Name:	Howard J. Mu	rrell
d.	Vice	Presid	ent's Name:	Louis J. Gaud	iio
e. f.	Ass	t. Se	Name: ecretary: Name:	Stacey L. Mu: Allison B. Mu	
g.	Nan Age		ddress of Resident	Corporate Se	rvice Company, 1201 Hays Street
If Offeror i			or partnership, answ	er the following:	
	a.	Date o	f Organization:		
	b.	Name,	address and ownersh	nip units of all partne	rs:
	c.	State v	whether general or lin	nited partnership:	
If Offeror i principals:	s other	than an	individual, corporat	ion partnership, descr	ibe the organization and give the name and address of

If Offeror is operating under fictitious name, submit evidence of con	
How many years has your organization been in business under its pr  24	esent business name?
a. Under what other former names has your organization Quality Engineering Company, Inc.	operated?
Signature: Louis J. Gaudio, Vice President	
State ofFlorida SS.  County ofCollier SS.	EMENT
On this the 27th day of April , 2018  Florida , personally appeared Louis J. Gaudic who appeared before notary) whose name(s) is/are Subscribed to the/she/they executed it.	and (Name(s) of individual
MARCIE L. COHEN MY COMMISSION # GG 152066 EXPIRES: February 11, 2022 NOTARY PUBLIC SEAL OF OFFICE:	NOTARY PUBLIC, STATE OF Florida
☑ Personally known to me, or ☐ Produced Identification:	_ DID take an oath, or DID NOT take an oath

## **COOPERATIVE PROCUREMENT WITH OTHER JURISDICTIONS**

The vendor, by submitting a bid, authorizes other Public Agencies to "Piggy-Back" or purchase equipment or services being proposed in this invitation to bid at prices bid unless otherwise noted on the proposal sheet.

	37		
Yes	X	No	
1 40		110	

### **AUTHORIZED SIGNATURE**

By submission of the ITB, the undersigned certifies that:

- 1. He/She has not paid or agreed to pay any fee or commission, or any other thing of value contingent upon the award of this contract, to any City of Venice, Florida employee or official or to any current consultant to the City of Venice, Florida;
- 2. He/She has not paid or agreed to pay any fee or commission or any other thing of value contingent upon the award of this contract to any broker or agent or any other person;
- 3. The prices contained in this proposal have been arrived at independently and without collusion, consultation, communication or agreement intended to restrict competition.
- 4. He/She has the full authority of the Offeror or to execute the proposal and to execute any resulting contract awarded as the result of, or on the basis of, the proposal.

Authorized Represent	ative: Louis J. Gaudio
Signature:	
Title: Vice Pres	ident
Company Name:	Quality Enterprises USA, Inc.
Address:	3494 Shearwater Street
City, State, ZIP:	Naples, FL 34117-8414
Telephone Number: _	239-435-7200
Fax Number:	239-435-7202
E-mail address:	LGAUDIO@QEUSA.COM



## FORM 3A INTEREST IN COMPETITIVE BID FOR PUBLIC BUSINESS

LAST NAME - FIRST NAME - MIDDLE INITIAL		OFFICE / POSITION HELD		
MAILING ADD	RESS		AGENCY	
CITY	ZIP	COUNTY	ADDRESS OF AGENCY	

#### WHO MUST FILE THIS STATEMENT

Sections 112.313(3) and 112.313(7), Florida Statutes, prohibit certain business relationships on the part of public officers and employees, their spouses, and their children. See Part III, Chapter 112, Florida Statutes, and/or the brochure entitled "A Guide to the Sunshine Amendment and Code of Ethics for Public Officers and Employees" for more details on these prohibitions. However, Section 112.313(12), Florida Statutes, provides certain limited exemptions to the above-referenced prohibitions, including one where the business is awarded under a system of sealed, competitive bidding; the public official has exerted no influence on bid negotiations or specifications; AND where disclosure is made, prior to or at the time of the submission of the bid, of the official's or his spouses's or child's interest and the nature of the intended business. This form has been promulgated by the Commission on Ethics for such disclosure, If and when applicable to a public officer or employee.

#### INTEREST IN COMPETITIVE BID FOR PUBLIC BUSINESS (Required by Section 112.313(12)(b), Fla. Stat.)

1. The competitive bid to which this statement	applies has been / will be (strike one) subn	nitted to the following government agency:
2. The person submitting the bid is:	NAME ▼	POSITION ▼
3. The business entity with which the person su	bmitting the bid is associated is:	
4. My relationship to the person or business en	ity submitting the bid is as follows:	
The nature of the business intended to be transaction.  The realty, goods, and / or services to be  b. The realty, goods, and / or services will be.	supplied specifically include:	
c. Will the contract be subject to renewal w	rithout further competitive bidding?	Yes 🔲 No. If so, how often?
Additional comments:		
7. SIGNATURE	DATE SIGN	ED DATE FILED

#### FILING INSTRUCTIONS

If you are a state officer or employee required to disclose the information above, please file this form with the Commission on Ethics, P.O. Drawer 15709, Tallahassee, FL 32317-5709; physical address: 325 John Knox Road, Building E, Suite 200, Tallahassee, FL 32303. If you are an officer or employee of a political subdivision of this state and are subject to this disclosure, please file the statement with the Supervisor of Elections of the county in which the agency in which you are serving has its principal office.

NOTICE: UNDER PROVISIONS OF FLORIDA STATUTES SECTION 112.317, A FAILURE TO MAKE ANY REQUIRED DISCLOSURE CONSTITUTES GROUNDS FOR AND MAY BE PUNISHED BY ONE OR MORE OF THE FOLLOWING: IMPEACHMENT, REMOVAL OR SUSPENSION FROM OFFICE OR EMPLOYMENT, DEMOTION, REDUCTION IN SALARY, REPRIMAND, OR A CIVIL PENALTY NOT TO EXCEED \$10,000.

CE FORM 3A - REV, 1/07 (Refer to Rufe 34-7,010,11/c), FA,C (XRev.\$/2013)

## **INDEMNIFICATION/HOLD HARMLESS**

The elected firm shall (if required by City) defend, indemnify and hold the City, the City's representatives or agents, and the officers, directors, agents, employees, and assigns of each harmless for and against any and all claims, demands, suits, judgments, damages to persons or property, injuries, losses or expenses of any nature whatsoever (including attorneys' fees at trial at appellate level) arising directly or indirectly from or out of any negligent act or omission of the elected firm, its Sub-Offerors and their officers, directors, agents or employees; any failure of the elected firm to perform its services hereunder in accordance with generally accepted professional standards; any material breach of the elected firm's representations as set forth in the proposal or any other failure of the elected firm to comply with the obligations on its part to be performed under this contract.

I, Louis J. Gaudio	, being an auth	orized representative of t	he firm of	
Quality Enterprises U	SA, Inc.	located at City		
Naples	, StateFL	, Zip Code <u>3411</u>	7-8414	Phone
239-435-7200 Fax:	239-435-7202		. Having rea	d and
understood the contents above, h	nereby submit accord	ingly as of this Date,		
April 27	, 2018			
Louis J. Gaudio, Vice P Please Print Name	resident	<del></del>		
Signature				
Digitatule				

This signed document shall remain in effect for a period of one (1) year from the date of signature or for the contract period, whichever is longer.

## CITY OF VENICE, FLORIDA FDEP & U.S. EPA CONSTRUCTION NOTICES OF INTENT (NOI)

The undersigned bidder acknowledges the requirement of the U.S. Environmental Protection Agency (EPA) and the Florida Department of Environmental Protection (FDEP) which have published the rules for NPDES General Permits for stormwater discharges from construction sites and said bidder agrees to assist the owner in the preparation of these permits and associated plans. The bidder acknowledges that he has taken these permits and associated construction costs into account in the preparation of his lump sum bid. These permits are mandated under Section 402(p) of the Clean Water Act for "Stormwater Discharge from Construction Activities (including clearing, grading, and excavation activities) that result in the disturbance of five (5) or more acres total land area, including areas that are part of a larger common plan of development or sale." The EPA has published summary guidance for: "Developing Prevention Plans and Best Management Practices" (EPA 833-R-92-001, October 1992).

The EPA permit format is a Notice of Intent (NOI) for Stormwater Discharges Associated with Construction Activity to be covered under a NPDES Permit, and it is to be submitted according to the NOI instructions. The Stormwater Pollution Prevention Plan which must accompany the NOI must be signed by authorized representatives of the contractor and subcontractors as well as the facility Owner. Copies of the EPA NOI must be provided to state and local agencies who have issued stormwater management, grading, or land alteration permits or approvals.

An NOI must also be submitted to the Florida Department of Environmental Protection, NPDES Stormwater Notices Center, MS 2510, 2600 Blair Stone Road, Tallahassee, FL 32399. FDEP forms may be downloaded from the State's web site <a href="http://www.dep.state.fl.us/water/stormwater/npdes/">http://www.dep.state.fl.us/water/stormwater/npdes/</a> or phone 850-921-9870 if you have questions.

Acceptance of the bid to which this certification and disclosure applies in no way represents the Owner or its Representative has evaluated and thereby determined that the information is adequate to comply with the applicable U.S. EPA or FDEP requirements nor does it in any way relieve the contractor of its sole responsibility to comply with the applicable U.S. EPA and FDEP requirements, including inspection of all control measures at least once each week and following any storm (rainfall) event of 0.5 inches or greater and maintaining reports of each inspection.

Bidder (Company): Quality Enterprises USA, Inc.

Name and Title: Louis J. Gaudio, Vice President

Address: 3494 Shearwater Street

Naples, Florida 34117-8414

Telephone: 239-435-7200

BY SIGNATURE BELOW OF AUTHORIZED REPRESENTATIVE, CONTRACTOR ACKNOWLEDGES RECEIPT OF A COPY OF CITY ORDINANCES 95-12 and 96-09 AND AGREES TO ABIDE BY THE REQUIREMENTS OF SAID ORDINANCES.

Signature: Date: 4/27/18

Printed name/title: Louis J. Gaudio, Vice President

## **ORDINANCE 95-12**

AN ORDINANCE OF THE CITY OF VENICE, FLORIDA, AMENDING THE CODE OF ORDINANCES BY AMENDING CHAPTER 9, HEALTH AND SANITATION, ARTICLE IV, DISPOSAL OF EXCRETA, SECTION 9-71, DISCHARGE OF RAW SEWAGE INTO STORMWATER; DELETING ARTICLE V, PROHIBITED STORMWATER DISCHARGES; ADDING CHAPTER 19, WATER AND SEWERS, ARTICLE VI, STORMWATER QUALITY; DELETING CHAPTER 15, STREETS AND SIDEWALKS, ARTICLE IV, EXCAVATIONS, SECTION 15-53, STORM DRAINAGE AND POLLUTION; PROVIDING FOR CONFLICT WITH OTHER ORDINANCES; PROVIDING FOR A SEVERABILITY CLAUSE AND PROVIDING AN EFFECTIVE DATE.

WHEREAS, control of stormwater runoff is necessary from individual lots that do not require a permit from the Southwest Florida Water Management District and requiring compliance with the provisions of the Clean Water Act 33 U.S.C.1251 et.seq., as amended by the Water Quality Act of 1987; and

WHEREAS, the City is desirous of complying with its U.S. Environmental Protection Agency National Pollutant Discharge Elimination System Permit and its Stormwater Master Plan, therefore, stormwater runoff and any discharge to the City storm sewer system will be closely monitored and regulated; and

WHEREAS, the control of stormwater runoff is the responsibility of each individual property owner; and

WHEREAS, the City is desirous of controlling stormwater runoff and insuring compliance with the Comprehensive Plan.

NOW, THEREFORE, BE IT ORDAINED BY THE CITY COUNCIL OF THE CITY OF VENICE, FLORIDA: SECTION 1. Chapter 9, Water and Sewers, Article IV, Disposal of Excreta, Section 9-71, Discharge of Raw Sewage into Storm Sewer, is amended to read as follows:

### Sec. 9-71. Discharge of raw sewage into storm sewer.

It shall be unlawful for any person to discharge raw sewage or to discharge the effluent of and from any septic tank into the storm sewer system of the city or to construct or maintain any system of drainage, pipes, conduits or other apparatus whereby raw sewage or the effluent of and from any septic tank shall or may be discharged into or through the storm sewer system of the city.

<u>SECTION 2</u>. Chapter 9, Water and Sewers, Article V, Prohibited Stormwater Discharges, is deleted in its entirety. <u>SECTION 3</u>. Chapter 19, Water and Sewers, Article VI, Stormwater Quality is added to read as follows:

## ARTICLE VI. STORMWATER QUALITY

#### Sec. 19-141. Definitions.

As used in this article "industrial stormwater" means stormwater runoff from a site with industrial activities, as defined under 40 CFR Section 122.26(a)(14) U.S. Environmental Protection Agency regulation.

As used in this article "construction sites" refers to all sites.

As used in this article, "illicit discharge" is any discharge of anything other than stormwater to the municipal separate storm sewer system (MS4) or the waters of the State of Florida or the United States.

As used in this article "industrial wastewater" refers to liquids used by an entity in their course of business, that if discharged to the MS4, would degrade the quality of stormwater.

#### Sec. 19-142. Disposal of industrial stormwater discharges.

The following types of discharges to the municipal separate storm sewer of the city must be controlled as indicated.

- (1) Industrial wastewater/illicit discharge: Industrial wastewater/illicit discharge may not be discharged to the city's municipal separate storm sewer system.
- (2) Industrial stormwater: As required to comply with NPDES regulations, the quality of industrial stormwater which is discharged through the city's municipal separate storm sewer system may be subject to regulation or permitting, and any violation of such regulation or permit may be subject to an order to immediately cease such discharge.

#### Sec. 19-143. Runoff stormwater and Best Management Practice (BMPs) for construction sites.

BMPs shall be implemented as necessary, to insure that all discharges from construction activities are in compliance with the City of Venice EPA/NPDES Stormwater Permit and the Stormwater Master Plan, or the SWFWMD Permit or EPA's NPDES Construction Activity General Permit, whichever is most stringent in its requirements.

#### Best Management Practices include but are not limited to, the following requirements:

- (a) All site grading shall be conducted in such a manner that all stormwater management facilities located adjacent to the site are not altered in any way which will diminish their designated flow or pollutant removal capacity or the shape of the drainage facility.
- (b) Maintenance of vegetative buffers or use of a silt fence and/or staked hay bales which minimize erosion and retain sediment on site, shall be implemented prior to any construction activities taking place at sites which discharge to surface water or the municipal separate storm sewer system (MS4). These controls, when utilized, shall be secured and properly maintained during construction activities until the site has been stabilized with sod and/or seed and mulch. A double silt fence may be required as an additional measure to insure that discharges from the site are in compliance with water quality standards as established by the EPA/NPDES Stormwater Permit. Undisturbed vegetative buffers shall be maintained intact to the maximum extent possible to reduce erosion and the discharge of sediment from stormwater runoff. All areas of exposed soil shall be stabilized within 72 hours of attaining final grade.
- (c) Storm sewer systems (eg. inlets, pipes and ditches, etc.) adjacent to the site must be protected by a silt fence and/or staked hay bales during construction, to keep solids from entering conveyance systems.
- (d) Vehicles such as concrete or dump trucks and other construction equipment shall not be washed at locations where the runoff will flow directly into a lake, wetland, watercourse or stormwater conveyance system. Special areas must be designated for washing vehicles. In all new subdivisions, a wash area may be established by the owner/developer which can be used by the site contractor and home builders. If established, wash areas shall be located where the wash water will spread out and evaporate or infiltrate directly into the ground, or where the runoff can be collected in a temporary holding or seepage basin. Gravel or rock bases are recommended for temporary holding or seepage basins, to minimize mud generation. Underdrains shall be installed where infiltration basins are provided as required by the owner/developer's engineer or the Southwest Florida Water Management District. Upon completion of the project, the wash areas shall be graded and stabilized and any trash or waste shall be collected and disposed of properly.
- (e) Fuel, chemicals, cements, solvents, paints, topsoil, or other potential water pollutants shall be stored in areas where they will not cause runoff pollution. Toxic chemicals and materials, such as pesticides, paints, and acids, must be stored in accordance with manufacturer's guidelines. Groundwater resources shall be protected from leaching by placing a plastic mat, packed clay, tar paper, or other impervious material on any areas where toxic liquids are to be opened and stored.
- (f) A minimum of one permitted driveway must be established prior to construction and shall be used as the only access for ingress/egress during construction in order to provide minimum disturbance of drainage facilities and vegetative cover on site.

### Sec. 19-44. Owner responsibility for stormwater runoff.

- (a) The control of stormwater runoff is the responsibility of each individual property owner.
- (b) Any property owner constructing or causing to be constructed any building which requires an elevated slab and the elevation of the building pad is higher than that of adjoining properties, will control stormwater runoff during construction. Likewise, any property that is filled more than twelve inches above the adjacent property must provide additional control measures for stormwater during construction. Upon completion of the work, all stormwater runoff shall flow to its natural preconstruction drainage swale, ditch, etc., or be retained in a retention or detention pond(s) designed and constructed for that purpose.
- (c) For any construction where the elevation of the building pad or site fill will be higher than adjoining properties, construction plans certified by a professional engineer registered with the State of Florida, retained by the property owner, will be provided to the City prior to issuance of a building permit.
- (d) Any single lot not covered under Southwest Florida Water Management District rules, exceeding forty-five percent in impervious coverage (including buildings, drives, sidewalks, patios, etc.) shall require stormwater retention facilities to be designed by a Florida registered engineer. The design is to meet the City of Venice EPA/NPDES Permit requirements for quantity and quality of treatment.
- (e) The property owner's engineer will be required to certify to the City Engineer that construction was completed in accordance with the certified plans, prior to issuance of a Certificate of Occupancy.
- (f) All improvements to property affecting stormwater drainage must be done in compliance with the City's Comprehensive Plan.

#### Sec. 19-145. Illicit discharges.

It shall be unlawful for any person to discharge anything other than stormwater into the city's municipal separate storm sewer system whether such discharges occur through piping connections, runoff, exfiltration, infiltration, seepage, or leaks. No person may maintain, use, or establish any direct or indirect connection to any storm sewer owned by the city that results in any discharge in violation of any provision of federal, state, city, or other law or regulation. This provision is retroactive to January 1, 1995, and applies to connections made prior to the effective date of this provision, regardless of whether made under a permit, or other authorization, or whether permissible under laws or practices applicable or prevailing at the time the connection was made.

No materials other than those composed entirely of stormwater shall be disposed of, dumped, or spilled into the city's municipal separate storm sewer system, whether such materials are in a solid or liquid form.

#### Sec. 19-146. Inspections.

It shall be the duty of the city engineer or designee to carry out all inspections, surveillance, and monitoring procedures necessary to determine compliance with this article.

<u>SECTION 4</u>. Chapter 15, Streets and Sidewalks, Article IV, Excavations, Section 15-53, Storm Drainage and Pollution, is deleted in its entirety.

<u>SECTION 5</u>. To the extent of any conflict between the provisions of this Ordinance, and any other Ordinance, Resolution, or Agreement of the City of Venice, Florida, the provisions of this Ordinance shall prevail.

SECTION 6. Severability. If for any reason a provision of this Ordinance or the application thereof to any person, group of persons, or circumstances is held invalid, the invalidity shall not effect other provisions or applications of the Ordinance which can be given effect without the invalid provision or application, and to this end the provisions of the Ordinance are severable.

SECTION 7. Effective Date. This Ordinance shall take effect immediately upon its adoption, as required by law.

#### PASSED BY THE COUNCIL OF THE CITY OF VENICE, FLORIDA, THIS 23RD DAY OF MAY, 1995.

First Reading: May 9, 1995 - Final Reading: May 23, 1995 - ADOPTION: May 23, 1995

ATTEST: /s/LORI STELZER, CMC,CITY CLERK /S/ MERLE L. GRASER, MAYOR

I, LORI STELZER, City Clerk of the City of Venice, Florida, a municipal corporation in Sarasota County, Florida, do hereby certify that the foregoing is a full and complete, true and correct copy of an Ordinance duly adopted by the Venice City Council, at a meeting thereof duly convened and held on the 23rd day of May, 1995, a quorum being present.

WITNESS my hand and the official seal of said City this 24th day of May, 1995.

/S/ LORI STELZER, CMC, CITY CLERK Approved as to form: /S/ ROBERT C. ANDERSON, CITY ATTORNEY

### **ORDINANCE 96-09**

AN ORDINANCE OF THE CITY OF VENICE, FLORIDA, AMENDING THE CODE OF ORDINANCES BY AMENDING CHAPTER 19, WATER AND SEWERS, ARTICLE VI, STORMWATER QUALITY, SECTION 19-141, DEFINITION FOR INDUSTRIAL STORMWATER, SECTION 19-146, INSPECTIONS, PROVIDING FOR CONFLICT WITH OTHER ORDINANCES; PROVIDING FOR A SEVERABILITY CLAUSE AND PROVIDING AN EFFECTIVE DATE.

WHEREAS, the City of Venice is responsible for the conservation, management, protection, control, use and enhancement of stormwater within its corporate limits, and for the acquisition, management, maintenance, extension, and improvement of the stormwater systems in the City; and

WHEREAS, the Environmental Protection Agency/National Pollutant Discharge Elimination System (EPA/NPDES) permit requires certain amendments to the existing Ordinance and extension of inspection authority on private properties.

NOW, THEREFORE, BE IT ORDAINED BY THE CITY COUNCIL OF THE CITY OF VENICE, FLORIDA: <u>SECTION 1</u>. Chapter 19, Water and Sewers, Article VI, Stormwater Quality, Section 19-141, Definition, for Industrial Stormwater is amended to read as follows:

#### Sec. 19-141. Definitions.

As used in this article, "industrial stormwater" means stormwater runoff from a site with industrial activities, as defined under 40 CFR Section 122.26 (a) (b) (14), U.S. Environmental Protection Agency regulation.

SECTION 2. Chapter 19, Water and Sewers, Article VI, Stormwater Quality, Section 19-146, Inspections, is amended to read as follows:

#### Sec. 19-146. Inspections.

It shall be the duty of the city engineer or designee to carry out all inspections, surveillance, and monitoring procedures necessary to determine compliance with this article. The city engineer or his duly authorized agents may enter at all reasonable times in or upon any private or public property for the purpose of inspecting and investigating conditions and practices which may be a violation of this ordinance, regulation or permit. The city engineer may, whenever necessary, make an inspection of construction sites to enforce any of the provisions of this ordinance, regulation or permit issued hereunder, or whenever an authorized official has reasonable cause to believe there exists any condition constituting a violation of this ordinance, regulation or permit issued hereunder. The city engineer shall inspect the work and shall require the owner to obtain services to provide adequate on-site inspection. If the city engineer finds that eroded soils are leaving the construction site, the city engineer may direct the owner(s) or his agents or his contractor on the site by written order to install any and all erosion controls that are deemed necessary to prevent said soil erosion from migrating off site. Notwithstanding the existence or pursuit of any other remedy, the City may maintain an action in its own name in any court of competent jurisdiction for an injunction or other process against any person to restrain or prevent violations of this ordinance.

SECTION 3. To the extent of any conflict between the provisions of this Ordinance, and any other Ordinance, Resolution, or Agreement of the City of Venice, Florida, the provisions of this Ordinance shall prevail.

<u>SECTION 4</u>. Severability. If for any reason a provision of this Ordinance or the application thereof to any person, group of persons, or circumstances is held invalid, the invalidity shall not effect other provisions or applications of the Ordinance which can be given effect without the invalid provision or application, and to this end the provisions of the Ordinance are severable.

SECTION 5. Effective Date. This Ordinance shall take effect immediately upon its adoption, as required by law.

PASSED BY THE COUNCIL OF THE CITY OF VENICE, FLORIDA, THIS 26TH DAY OF MARCH, 1996. First Reading: March 12, 1996 - Final Reading: March 26, 1996 - ADOPTION: March 26, 1996

ATTEST: /s/LORI STELZER, CMC, CITY CLERK /S/ MERLE L. GRASER, MAYOR

I, LORI STELZER, City Clerk of the City of Venice, Florida, a municipal corporation in Sarasota County, Florida, do hereby certify that the foregoing is a full and complete, true and correct copy of an Ordinance duly adopted by the Venice City Council, at a meeting thereof duly convened and held on the 26th day of March, 1996, a quorum being present.

WITNESS my hand and the official seal of said City this 27th day of March, 1996.

/S/ LORI STELZER, CMC, CITY CLERK Approved as to form: /S/ ROBERT C. ANDERSON, CITY ATTORNEY.

## $\frac{\textbf{STATEMENT OF REFERENCES}}{\textbf{FOR CONTRACTOR}}$

NAME OF CONTRACTOR: Quality Enterprises USA, Inc.
BUSINESS ADDRESS: 3494 Shearwater Street, Naples, FL 34117-8414
How many years have you been engaged in the business under the present firm name? 24
List previous business experience: Construction of bridges, roadway, storm systems
and underground utilities for FDOT, FAA and local municipalities
List at least three construction references:
(1) Person to contact: Andy Holland
Company Name: City of Naples
Address: 295 Riverside Circle, Naples, FL 34102
Telephone: 239-213-5117 Date work performed: 2004 - Present
(2) Person to contact: <u>Kelly Slaughter</u>
Company Name: Charlotte County
Address: 410 Taylor Street, Punta Gorda, FL
Telephone: 941-575-3657 Date work performed: 2006 - Present
(3) Person to contact: <u>James Cook</u>
Company Name: Town of Hilton Head Island
Address: One Town Center Court, Hilton Head Island, SC
Telephone: 843-341-4778 Date work performed: 2016- Present
(4) Person to contact: Anthony DiMeglio
Company Name: Collier County Utilities
Address: 4700 Progress Avenue, Naples, FL
Telephone: 239-285-7850 Date work performed: 2005 - Present

## CONTRACTOR'S STATEMENT OF SUBCONTRACTORS TO BE USED FOR THIS WORK

NAME	OF CONTRACTOR:Quality Enterprises USA, Inc.		
BUSIN	ESS ADDRESS: 3494 Shearwater Street, Naples, FL 34117-8414		
LIST S	UBCONTRACTORS TO BE USED IN THE PROJECT:		
(1)	Company Name: AIS American Infrastructure		
	Address: 11341 Lindberg Blvd., Fort Myers, FL 33913		
	Telephone: 239-961-2004 Phase of Work Sublet: Electrical, signage,	plant	hangars
(2)	Company Name: <u>Hazeltine Nurseries</u> , Inc.		
	Address: 2401 N. River Road, Venice, FL 34292		
	Telephone: 941-468-4945 Phase of Work Sublet: Landscape, hardscape,	irriga	tion
(3)	Company Name: Kate's Enfiro Fencing, Inc.		
	Address: 3435 Quail Drive, Bonita Springs, FL 34134		
	Telephone: 239-948-3116 Phase of Work Sublet: Erosion Control		
(4)	Company Name: Unlimited Turf, Inc.		
	Address: 850 NW Federal Hwy, Suite 170, Stuart, FL 34994		
	Telephone: 863-357-5700 Phase of Work Sublet: Sodding		

## CONTRACTOR'S STATEMENT OF SUBCONTRACTORS TO BE USED FOR THIS WORK

NAME OF CONTRACTOR: Quality Enterprises USA, Inc.
BUSINESS ADDRESS: 3494 Shearwater Street, Naples, FL 34117-8414
LIST SUBCONTRACTORS TO BE USED IN THE PROJECT:
(1) Company Name: Carter Fence
Address: 3490 Shearwater Street, Naples, FL 34117
Telephone: 239-353-4102 Phase of Work Sublet: Fencing
(2) Company Name: Tincher Concrete Construction
Address: 16900 Gator Road, Fort Myers, FL 33912
Telephone: 239-267-7766 Phase of Work Sublet: Misc. concrete, brick paver
(3) Company Name:
Address:
Telephone: Phase of Work Sublet:
(4) Company Name:
Address:
Telephone: Phase of Work Sublet:

## DRUG FREE WORKPLACE CERTIFICATION

If identical tie bids exist, preference will be given to the vendor who submits a certification with their bid/proposal certifying they have a drug-free workplace in accordance with Section 287.087, Florida Statutes. The drug-free workplace preference is applied as follows:

IDENTICAL TIE BIDS: Preference shall be given to businesses with drug-free workplace programs. Whenever two or more bids, which are equal with respect to price, quality, and service, are received by the State of by any political subdivision for the procurement of commodities or contractual services, a bid received from a business that certifies that it has implemented a drug-free workplace program shall be given preference in the award process. Established procedures for processing tie bids will be followed if none of the tied vendors have a drug-free workplace program.

As the person authorized to sign this statement, I certify that this firm complies fully with the following requirements:

- 1) This firm publishes a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- 2) This firm informs employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug-free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
- 3) This firm gives each employee engaged in providing the commodities or contractual services that are under bid a copy of the statement specified in subsection (1).
- 4) In the statement specified in subsection (1), this firm notifies the employees that, as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace no later than five (5) days after such conviction.
- 5) This firm imposes a sanction on or requires the satisfactory participation in a drug abuse assistance or rehabilitation program if such is available in the employee's community, by any employee who is so convicted.
- 6) This firm will continue to make a good faith effort to maintain a drug-free workplace through implementation of this section.

Contractor's Name Signature Louis J. Gaudio, Vice President

## STATE OF FLORIDA DEPARTMENT OF TRANSPORTATION NON-COLLUSION DECLARATION AND COMPLIANCE WITH 49 CFR § 29

575-060-13 RIGHT OF WAY 05/01 Page 1 of 3

				ITEM/SEGMENT NO.:  F.A.P. NO.:  MANAGING DISTRICT:  PARCEL NO.:  COUNTY OF: Sarasota  BID LETTING OF: April 27, 2018
I, _	Louis J. Gaudio			, hereby declare that I am
		(NAME)		, nereby decide that I am
	Vice President		of	Quality Enterprises USA, Inc.
	(TITLE)		_	(FIRM)
of	Naples, Florida			

and that I am the person responsible within my firm for the final decision as to the price(s) and amount of this Bid on this State Project.

(CITY AND STATE)

### I further declare that:

- 1. The prices(s) and amount of this bid have been arrived at independently, without consultation, communication or agreement, for the purpose of restricting competition with any other contractor, bidder or potential bidder.
- 2. Neither the price(s) nor the amount of this bid have been disclosed to any other firm or person who is a bidder or potential bidder on this project, and will not be so disclosed prior to the bid opening.
- 3. No attempt has been made or will be made to solicit, cause or induce any other firm or person to refrain from bidding on this project, or to submit a bid higher than the bid of this firm, or any intentionally high or non-competitive bid or other form of complementary bid.
- 4. The bid of my firm is made in good faith and not pursuant to any agreement or discussion with, or inducement from, any firm or person to submit a complementary bid.
- 5. My firm has not offered or entered into a subcontract or agreement regarding the purchase of materials or services from any firm or person, or offered, promised or paid cash or anything of value to any firm or person, whether in connection with this or any other project, in consideration for an agreement or promise by any firm or person to refrain from bidding or to submit a complementary bid on this project.
- 6. My firm has not accepted or been promised any subcontract or agreement regarding the sale of materials or services to any firm or person, and has not been promised or paid cash or anything of value by any firm or person, whether in connection with this or any other project, in consideration for my firm's submitting a complementary bid, or agreeing to do so, on this project.
- 7. I have made a diligent inquiry of all members, officers, employees, and agents of my firm with responsibilities relating to the preparation, approval or submission of my firm's bid on this project and have been advised by each of them that he or she has not participated in any communication, consultation, discussion, agreement, collusion, act or other conduct inconsistent with any of the statements and representations made in this Declaration.
- 8. As required by Section 337.165, Florida Statutes, the firm has fully informed the Department of Transportation in writing of all convictions of the firm, its affiliates (as defined in Section 337.165(I)(a), Florida Statutes), and all directors, officers, and employees of the firm and its affiliates for violation of state or federal antitrust laws with respect to a public contract or for violation of any state or federal law involving fraud, bribery, collusion, conspiracy or material misrepresentation with respect to a public contract. This includes disclosure of the names of current employees of the firm or affiliates who were convicted of contract crimes while in the employ of another company.

- 9. I certify that, except as noted below, neither my firm nor any person associated therewith in the capacity of owner, partner, director, officer, principal, investigator, project director, manager, auditor, and/or position involving the administration of Federal funds:
  - (a) is presently debarred, suspended, proposed for debarment, declared ineligible, or voluntarily excluded from covered transactions, as defined in 49 CFR §29.110(a), by any Federal department or agency;
  - (b) has within a three-year period preceding this certification been convicted of or had a civil judgment rendered against him or her for: commission of fraud or a criminal offense in connection with obtaining, attempting to obtain, or performing a Federal, State or local government transaction or public contract; violation of Federal or State antitrust statutes; or commission of embezzlement, theft, forgery, bribery, falsification or destruction of records, making false statements or receiving stolen property;
  - (c) is presently indicted for or otherwise criminally or civilly charged by a Federal, State or local governmental entity with commission of any of the offenses enumerated in paragraph 9(b) of this certification; and
  - (d) has within a three-year period preceding this certification had one or more Federal, State or local government public transactions terminated for cause or default.
- 10. I(We), certify that I(We), shall not knowingly enter into any transaction with any subcontractor, material supplier, or vendor who is debarred, suspended, declared ineligible, or voluntarily excluded from participation in this contract by any Federal Agency unless authorized by the Department.

Where I am unable to declare or certify as to any of the statements contained in the above stated paragraphs numbered (1) through (10), I have provided an explanation in the "Exceptions" portion below or by attached separate sheet.

EXCEPTIONS:

(Any exception listed above will not necessarily result in denial of award, but will be considered in determining bidder responsibility. For any exception noted, indicate to whom it applies, initiating agency and dates of agency action. Providing false information may result in criminal prosecution and/or administrative sanctions.)

I declare under penalty of perjury that the foregoing is true and correct.

CONTRACTOR: (Seal)	$\sim \sim $
BY: Louis J. Gaudio, Vice President NAME AND TITLE PRINTED  BY:	WITNESS: Margarital Negron WITNESS: Maria Alla
SIGNATURE	Marcie Cohen
Executed on this <u>27th</u> day of <u>April</u>	

FAILURE TO FULLY COMPLETE AND EXECUTE THIS DOCUMENT MAY RESULT IN THE BID BEING DECLARED NONRESPONSIVE

#### REQUIRED CONTRACT PROVISIONS

This certification applies to subcontractors, material suppliers, vendors and other lower tier participants.

- Appendix B of 49 CFR Part 29 -

Appendix B—Certification Regarding Debarment, Suspension, Ineligibility and Voluntary Exclusion—Lower Tier Covered Transactions

Instructions for Certification

- 1. By signing and submitting this proposal, the prospective lower tier participant is providing the certification set out below.
- 2. The certification in this clause is a material representation of fact upon which reliance was placed when this transaction was entered. If it is later determined that the prospective lower tier participant knowingly rendered an erroneous certification, in addition to other remedies available to the Federal Government, the department or agency with which this transaction originated may pursue available remedies, including suspension and/or debarment.
- 3. The prospective lower tier participant shall provide immediate written notice to the person to which this proposal is submitted if at any time the prospective lower tier participant learns that its certification was erroneous when submitted or has become erroneous by reason of changed circumstances.
- 4. The terms "covered transaction," "debarred," "suspended," "ineligible," "lower tier covered transaction," "participant," "person," "primary covered transaction," "principal," "proposal," and "voluntarily excluded," as used in this clause, have the meanings set out in the Definitions and Coverage sections of rules implementing Executive Order 12549. You may contact the person to whom this proposal is submitted for assistance in obtaining a copy of those regulations.
- 5. The prospective lower tier participant agrees by submitting this proposal that it shall not knowingly enter into any lower tier covered transaction with a person who is debarred, suspended, declared ineligible, or voluntarily excluded from participation in this covered transaction, unless authorized by the department or agency with which this transaction originated.
- 6. The prospective lower tier participant further agrees by submitting this proposal that it will include this clause titled "Certification Regarding Debarment, Suspension, Ineligibility and Voluntary Exclusion--Lower Tier Covered Transaction," without modification, in all lower tier covered transactions and in all solicitations for lower tier covered transactions.
- 7. A participant in a covered transaction may rely upon a certification of a prospective participant in a lower tier covered transaction that it is not debarred, suspended, ineligible, or voluntarily excluded from the covered transaction, unless it knows that the certification is erroneous. A participant may decide the method and frequency by which it determines the eligibility of its principals. Each participant may, but is not required to, check the Nonprocurement List.
- 8. Nothing contained in the foregoing shall be construed to require establishment of a system of records in order to render in good faith the certification required by this clause. The knowledge and information of a participant is not required to exceed that which is normally possessed by a prudent person in the ordinary course of business dealings.
- 9. Except for transactions authorized under paragraph 5 of these instructions, if a participant in a covered transaction knowingly enters into a lower tier covered transaction with a person who is suspended, debarred, ineligible, or voluntarily excluded from participation in this transaction, in addition to other remedies available to the Federal Government, the department or agency with which this transaction originated may pursue available remedies, including suspension and/or debarment.

Certification Regarding Debarment, Suspension, Ineligibility and Voluntary Exclusion—Lower Tier Covered Transactions

- (1) The prospective lower tier participant certifies, by submission of this proposal, that neither it nor its principals is presently debarred, suspended, proposed for debarment, declared ineligible, or voluntary excluded from participation in this transaction by any Federal department or agency.
- (2) Where the prospective lower tier participant is unable to certify to any of the statements in this certification, such prospective participant shall attach an explanation to this proposal.

## PUBLIC ENTITY CRIME INFORMATION

A person or affiliate who has been placed on the State of Florida's convicted vendor list following a conviction for a public entity crime may not submit a BID/ITB proposal on a contract to provide any goods or services to a public entity, may not submit a response on a contract with a public entity for services in the construction or repair of a public building or public work, may not submit bids on leases of real property to a public entity, may not be awarded or perform work as a Contractor, supplier, Sub-Contractor, or Contractor under a contract with any public entity, and may not transact business with any public entity in excess of the threshold amount provided in Section 2876.017, for CATEGORY TWO for a period of 36 months from the date of being placed on the convicted vendor list.

I,	Louis J. Gaudio	, being an authorized representative			
of the	firm of <u>Quality Enterprises US</u>	A, Inc.	, located at	t City:	
	Naples State: Florida	Zip: _	34117-8414	_, have	
read a	nd understand the contents of the Public	Entity Crime Inf	formation and of	this	
formal BID/ITB package, hereby submit our proposal accordingly.					
Signature:		Date:	4/27/18		
Phone:	239-435-7200	Fax:	239-435-7202	2	
Federal ID#:	54-0947002				

#### STATE OF FLORIDA DEPARTMENT OF TRANSPORTATION

375-030-33 PROCUREMENT

## CERTIFICATION FOR DISCLOSURE OF LOBBYING ACTIVITIES ON FEDERAL-AID CONTRACTS

(Compliance with 49CFR, Section 20.100 (b))

The prospective participant certifies, by signing this certification, that to the best of his or her knowledge and belief:

- (1) No federal appropriated funds have been paid or will be paid, by or on behalf of the undersigned, to any person for influencing or attempting to influence an officer or employee of any federal agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with the awarding of any federal contract, the making of any federal grant, the making of any federal loan, the entering into of any cooperative agreement, and the extension, continuation, renewal, amendment, or modification of any federal contract, grant, loan, or cooperative agreement.
- (2) If any funds other than federal appropriated funds have been paid or will be paid to any person for influencing or attempting to influence an officer or employee of any federal agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with this federal contract, grant, loan, or cooperative agreement, the undersigned shall complete and submit Standard Form-LLL, "Disclosure of Lobbying Activities", in accordance with its instructions. (Standard Form-LLL can be obtained from the Florida Department of Transportation's Professional Services Administrator or Procurement Office.)

This certification is a material representation of fact upon which reliance was placed when this transaction was made or entered into. Submission of this certification is a prerequisite for making or entering into this transaction imposed by Section 1352, Title 31, U.S. Code. Any person who fails to file the required certification shall be subject to a civil penalty of not less than \$10,000 and not more than \$100,000 for each such failure.

The prospective participant also agrees by submitting his or her proposal that he or she shall require that the language of this certification be included in all lower tier subcontracts, which exceed \$100,000 and that all such subrecipients shall certify and disclose accordingly.

Name of Consultant: <u>Quality Enterprises I</u>	JSA, Inc	С.
By: <u>Louis J. Gaudio</u>	_ Date: _	4/27/18
Authorized Signature:		
Title: Vice President		

## STATE OF FLORIDA DEPARTMENT OF TRANSPORTATION DISCLOSURE OF LOBBYING ACTIVITIES

375-030-34 PROCUREMENT 02/16

Is this form applicable to your firm?
YES □ NO ☒
If no, then please complete section 4 below for "Prime"

1. Type of Federal Action: 2. Status of Federa		al Action:	3. Report Type:	
a. contract	<ul><li>a. bid/offer/appl</li></ul>	lication	a. initial filing	
b. grant	b. initial award		b. material change	
c. cooperative agreement	c. post-award		For Material Change Only:	
d. loan			Year: Quarter:	
e. loan guarantee			Date of last report:	
f. loan insurance			(mm/dd/yyyy)	
		[ [ [ [ ] ]		
4. Name and Address of Reporting I	=ntity:		tity in No. 4 is a Subawardee, Enter Name and	
☑ Prime ☐ Subaward		Address of Prime:		
<u>Quality Enterprises USA</u>				
3494 Shearwater Street				
Naples, FL 34117-8414				
Congressional District, if known: 4c _		Congressional Dis		
6. Federal Department/Agency:		7. Federal Progra	ım Name/Description:	
		CFDA Number, if	applicable:	
8. Federal Action Number, if known:		9. Award Amount, if known:		
		\$		
10. a. Name and Address of Lobby	ving Registrant	h Individuals Po	rforming Services (including address if	
(if individual, last name, first		different from No. 10a)		
(II III alviadai, idol ii aiii o, iii ol	mamo, mij.	(last name, first name, MI):		
		(last harrie, mist	name, wij.	
	·			
11. Information requested through this form	is authorized by title 21			
U.S.C. section 1352. This disclosure of I		Signature:		
material representation of fact upon which reliance was placed by the tier above when this transaction was made or entered into. This disclosure is required pursuant to 31 U.S.C. 1352.		Signaturez		
		Drint Name: Tax	d- I 0- 14-	
		Finit NameLot	is J. Gaudio	
This information will be available for pub person who fails to file the required discl	osure shall be subject	Title: Vice Dr		
to a civil penalty of not less than \$10,000	and not more than	Title: Vice Pr	esident	
\$100,000 for each such failure.		Telephone No. 200 (200 Dec P. C. 1111)		
2		Telephone No.: 239–435–7200 Date (mm/dd/yyyy): 04/27/2018		
Federal Use Only			Authorized for Local Reproduction	
Federal Use Only:			Standard Form LLL (Rev. 7-97)	

## INSTRUCTIONS FOR COMPLETION OF SF-LLL, DISCLOSURE OF LOBBYING ACTIVITIES

This disclosure form shall be completed by the reporting entity, whether subawardee or prime Federal recipient, at the initiation or receipt of a covered Federal action, or a material change to a previous filing, pursuant to title 31 U.S.C. section 1352. The filing of a form is required for each payment or agreement to make payment to any lobbying entity for influencing or attempting to influence an officer or employee of any agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with a covered Federal action. Complete all items that apply for both the initial filing and material change report. Refer to the implementing guidance published by the Office of Management and Budget for additional information.

- 1. Identify the type of covered Federal action for which lobbying activity is and/or has been secured to influence the outcome of a covered Federal action.
- 2. Identify the status of the covered Federal action.
- 3. Identify the appropriate classification of this report. If this is a followup report caused by a material change to the information previously reported, enter the year and quarter in which the change occurred. Enter the date of the last previously submitted report by this reporting entity for this covered Federal action.
- 4. Enter the fullname, address, city, State and zip code of the reporting entity. Include Congressional District, if known. Check the appropriate classification of the reporting entity that designates if it is, or expects to be, a prime or subaward recipient. Identify the tier of the subawardee, e.g., the first subawardee of the prime is the 1st tier. Subawards include but are not limited to subcontracts, subgrants and contract awards under grants.
- 5. If the organization filing the report in item 4 checks "Subawardee," then enter the full name, address, city, State and zip code of the prime Federal recipient. Include Congressional District, if known.
- 6. Enter the name of the Federal agency making the award or loan commitment. Include at least one organizational level below agency name, if known. For example, Department of Transportation, United States Coast Guard.
- 7. Enter the Federal program name or description for the covered Federal action (item 1). If known, enter the full Catalog of Federal Domestic Assistance (CFDA) number for grants, cooperative agreements, loans, and loan commitments.
- 8. Enter the most appropriate Federal identifying number available for the Federal action identified in item 1 (e.g., Request for Proposal (RFP) number; Invitation for Bid (IFB) number; grant announcement number; the contract, grant, or loan award number; the application/proposal control number assigned by the Federal agency). Include prefixes, e.g., "RFP-DE-90-001."
- 9. For a covered Federal action where there has been an award or loan commitment by the Federal agency, enter the Federal amount of the award/loan commitment for the prime entity identified in item 4 or 5.
- 10. (a) Enter the full name, address, city, State and zip code of the lobbying registrant under the Lobbying Disclosure Act of 1995 engaged by the reporting entity identified in item 4 to influence the covered Federal action.
  - (b) Enter the full names of the individual(s) performing services, and include full address if different from 10 (a). Enter Last Name, First Name, and Middle Initial (MI).
- 11. The certifying official shall sign and date the form, print his/her name, title, and telephone number.

According to the Paperwork Reduction Act, as amended, no persons are required to respond to a collection of information unless it displays a valid OMB Control Number. The valid OMB control number for this information collection is OMB No. 0348-0046. Public reporting burden for this collection of information is estimated to average 10 minutes per response, including time for reviewing instructions, searching existing data sources, gathering and maintaining the data needed, and completing and reviewing the collection of information. Send comments regarding the burden estimate or any other aspect of this collection of information, including suggestions for reducing this burden, to the Office of Management and Budget, Paperwork Reduction Project (0348-0046), Washington, DC 20503.

#### STATE OF FLORIDA DEPARTMENT OF TRANSPORTATION

375-030-32 PROCUREMENT

## CERTIFICATION REGARDING DEBARMENT, SUSPENSION, INELIGIBILITY AND VOLUNTARY EXCLUSIONLOWER TIER COVERED TRANSACTIONS FOR FEDERAL AID CONTRACTS

(Compliance with 2 CFR Parts 180 and 1200)

It is certified that neither the below identified firm nor its principals are presently suspended, proposed for debarment, declared ineligible, or voluntarily excluded from participation in this transaction by any federal department or agency.

Name of Consultant/Contractor:	Quality Enterprises USA, Inc.	
Ву:	Louis J. Gaudio	
Date: 4/27/18		
Title:Vice President		

#### **Instructions for Certification**

Instructions for Certification - Lower Tier Participants:

(Applicable to all subcontracts, purchase orders and other lower tier transactions requiring prior FHWA approval or estimated to cost \$25,000 or more - 2 CFR Parts 180 and 1200)

- a. By signing and submitting this proposal, the prospective lower tier is providing the certification set out below.
- b. The certification in this clause is a material representation of fact upon which reliance was placed when this transaction was entered into. If it is later determined that the prospective lower tier participant knowingly rendered an erroneous certification, in addition to other remedies available to the Federal Government, the department, or agency with which this transaction originated may pursue available remedies, including suspension and/or debarment.
- c. The prospective lower tier participant shall provide immediate written notice to the person to which this proposal is submitted if at any time the prospective lower tier participant learns that its certification was erroneous by reason of changed circumstances.
- d. The terms "covered transaction," "debarred," "suspended," "ineligible," "participant," "person," "principal," and "voluntarily excluded," as used in this clause, are defined in 2 CFR Parts 180 and 1200. You may contact the person to which this proposal is submitted for assistance in obtaining a copy of those regulations. "First Tier Covered Transactions" refers to any covered transaction between a grantee or subgrantee of Federal funds and a participant (such as the prime or general contract). "Lower Tier Covered Transactions" refers to any covered transaction under a First Tier Covered Transaction (such as subcontracts). "First Tier Participant" refers to the participant who has entered into a covered transaction with a grantee or subgrantee of Federal funds (such as the prime or general contractor). "Lower Tier Participant" refers any participant who has entered into a covered transaction with a First Tier Participant or other Lower Tier Participants (such as subcontractors and suppliers).
- e. The prospective lower tier participant agrees by submitting this proposal that, should the proposed covered transaction be entered into, it shall not knowingly enter into any lower tier covered transaction with a person who is debarred, suspended, declared ineligible, or voluntarily excluded from participation in this covered transaction, unless authorized by the department or agency with which this transaction originated.
- f. The prospective lower tier participant further agrees by submitting this proposal that it will include this clause titled "Certification Regarding Debarment, Suspension, Ineligibility and Voluntary Exclusion-Lower Tier Covered Transaction," without modification, in all lower tier covered transactions and in all solicitations for lower tier covered transactions exceeding the \$25,000 threshold.
- g. A participant in a covered transaction may rely upon a certification of a prospective participant in a lower tier covered transaction that is not debarred, suspended, ineligible, or voluntarily excluded from the covered transaction, unless it knows that the certification is erroneous. A participant is responsible for ensuring that its principals are not suspended, debarred, or otherwise ineligible to participate in covered transactions. To verify the eligibility of its principals, as well as the eligibility of any lower tier prospective participants, each participant may, but is not required to, check the Excluded Parties List System website (https://www.epls.gov/), which is compiled by the General Services Administration.
- h. Nothing contained in the foregoing shall be construed to require establishment of a system of records in order to render in good faith the certification required by this clause. The knowledge and information of participant is not required to exceed that which is normally possessed by a prudent person in the ordinary course of business dealings.
- i. Except for transactions authorized under paragraph e of these instructions, if a participant in a covered transaction knowingly enters into a lower tier covered transaction with a person who is suspended, debarred, ineligible, or voluntarily excluded from participation in this transaction, in addition to other remedies available to the Federal Government, the department or agency with which this transaction originated may pursue available remedies, including suspension and/or debarment.

#### STATE OF FLORIDA DEPARTMENT OF TRANSPORTATION

375-030-50 PROCUREMENT OGC = 03/17

## CONFLICT OF INTEREST/CONFIDENTIALITY CERTIFICATION FOR CONSULTANT/CONTRACTOR/TECHNICAL ADVISORS

I certify that I have no present conflict of interest, that I have no knowledge of any conflict of interest that my firm may have, and that I will recuse myself from any capacity of decision making, approval, disapproval, or recommendation on any contract if I have a conflict of interest or a potential conflict of interest.

Consultants/Contractors are expected to safeguard their ability to make objective, fair, and impartial decisions when performing work for the Department, and therefore may not accept benefits of any sort under circumstances in which it could be inferred by a reasonable observer that the benefit was intended to influence a pending or future decision of theirs, or to reward a past decision. Consultants performing work for the Department should avoid any conduct (whether in the context of business, financial, or social relationships) which might undermine the public trust, whether or not that conduct is unethical or lends itself to the appearance of ethical impropriety.

I will maintain the confidentiality of all information not made public by the Florida Department of Transportation ("Department") related to the procurement of the above-referenced ("Project") that I gain access to as a result of my involvement with the Project ("Procurement Information"). I understand that Procurement Information includes, but is not limited to, documents prepared by or for the Department related to procurement of the Project. I also understand that Procurement Information includes, but is not limited to, documents submitted to the Department by entities seeking an award of the Project ("Proposers"). I understand that Procurement Information may include documents submitted by Proposers related to letters of response/letters of interest, technical proposals, price proposals, financial proposals, and information shared during exempt meetings. I also understand that Procurement Information may also include documents that evaluate or review documents submitted by Proposers, and information regarding Project cost estimates. I also agree not to discuss the Project with anyone who is a member of or acting on behalf of a Proposer.

Unless so ordered by a court of competent jurisdiction or an opinion of the Office of the Florida Attorney General, I will not divulge any Procurement Information except to individuals who have executed a Conflict of Interest/Confidentiality Certification which has been approved by the Department ("Project Personnel"). I understand that a list of Project Personnel will be maintained by Department. If I am contacted by any member of the public or the media with a request for Procurement Information, I will promptly forward such request to the Department's Procurement Office. I will also maintain security and control over all documents containing Procurement Information which are in my custody.

I agree not to solicit or accept gratuities, unwarranted privileges or exemptions, favors, or anything of value from any firm under consideration for an agreement associated with the Project, and I recognize that doing so may be contrary to statutes, ordinances, and rules governing or applicable to the Department or may otherwise be a violation of the law.

I agree not to engage in bid tampering, pursuant to Section 838.22, Florida Statutes.

I realize that violation of the above mentioned standards could result in the termination of my work for the Department. I further realize that violation of the above mentioned statute would be punishable in accordance with Section 838.22, Florida Statutes..

Advertisement No./ Solicitation No	Description		Financial Project Number(s	3)
3084-18	Downtown Road	lway Corridor Improve	ements RE-BID	
Each und	lersigned individual agre	es to the terms of this Conflict of	f Interest/Confidentiality Certification.	
Printed Names		Signatures	Date	
Louis J. Gaudio,	Vice President		4/27/18	

## STATE OF FLORIDA DEPARTMENT OF TRANSPORTATION MBE PLANNED UTILIZATION

375-040-24 PROCUREMENT 12/09

PROCUREMENT NO.	FINANCIAL PROJECT NO.
	(DEPARTMENT USE ONLY)
DESCRIPTION: <u>Downtown Roadway Corridor</u>	Improvements RE-BID, Bid No. 3084-18
Louis J. Gaudio (name)	Vice President (title)
of _Quality Enterprises USA, Inc.	(uue)
plan to subcontract at least% (percent) of the Business Enterprises.	e project costs on the above referenced project to Minority
If I have indicated above that a portion of the project costs proposed subconsultants/contractors and the types of serv	will be subcontracted to MBE(s), the firms considered as ices or commodities to be subcontracted are as follows:
MBE SUBCONSULTANTS/CONTRACTORS Kate's Enviro Fencing, Inc. Unlimited Turf, LLC	TYPES OF SERVICES/COMMODITIES Erosion Control Sodding
I understand that I will need to submit Minority Business Er for reporting purposes only.	nterprises (MBE) payment certification forms to the Department
	Signed:
	Louis J. Gaudio Title: Vice President
	Date: 4/27/18

## STATE OF FLORIDA DEPARTMENT OF TRANSPORTATION LAP CERTIFICATION OF CURRENT CAPACITY

525-010-46 PROGRAM MANAGEMENT 12/09 Page 1 of 2

CONFIDENTIAL

Fortile to be unabled to Appel 1 27 2010	Fill in your FDOT Vendor Number
For bids to be received on April 27, 2018 (Letting Date)	VF <u>F 54 0 9 4 7 0 0 2 0 0 1</u>
	(Only applicable to FDOT pre-qualified contractors)
CERTIF	<u>ICATE</u>
I hereby certify that the amount of any proposal submitted by of the Firm's CURRENT CAPACITY (maximum capacity rating	this bidder for the above letting does not exceed the amount gless total uncompleted work).
The total uncompleted work as shown on the "Status of Contracts on Hand" report (pag	e 2) \$ <b>20,197,700</b>
I further certify that the "Status of Contracts on Hand" report (p	page 2) was prepared as follows:
1. If the letting is before the 25 <sup>th</sup> day of the month, the certification day of the month, last preceding the month of the letting.	ate and report reflect the uncompleted work as of the 15 <sup>th</sup>
2. If the letting is after the $25^{th}$ day of the month, the certificate the $15^{th}$ day of the month of the letting.	e and report reflects the uncompleted work in progress as of
3. All new contracts (and subcontracts) awarded earlier than and charged against our total rating.	five days before the letting date are included in the report
	QUALITY ENTERPRISES USA, INC.
I certify that the information above is correct.	NAME OF FIRM
Sworn to and subscribed this10th day	By: Atalie Susham Natalie Grisham
of, 20 <u>18</u>	Executive Assistant
	Title

525-010-46 PRODUCTION SUPPORT 12/09 Page 2 OF 2

# STATUS OF CONTRACTS ON HAND

(Furnish complete information about all your contracts whether prime or subcontractos; whether in progress or awarded but not yet begun; and regardless of whom contracted with.)

-	2	က	4	5	9
PROJECTS OWNER, LOCATION AND DESCRIPTION	CONTRACT (OR SUBCONTRACT) AMOUNT	AMOUNT SUBLET TO OTHERS	BALANCE OF CONTRACT AMOUNT	UNCOMPLETED AN BY AS PRIME CONTRACTOR	UNCOMPLETED AMOUNT TO BE DONE BY YOU AS PRIME CONTRACTOR SUBCONSTRACTOR
14618/13 Irrigation Water Main Installation - NCWRF Collier Cty Bd of Commissioners - Naples, FL	\$ 1,456,800	\$ 539,000	0 \$ 917,800	\$ 917,800	
16217/02 Runway Extension, Stormpiping & Electrical Beaufort County - Hilton Head Island Airport, SC	\$ 6,480,100	\$ 1,500,000	0 \$ 4,980,100	\$ 4,980,100	
16217/03 Runway EMAS Installation Beaufort County - Hilton Head Island Airport, SC	\$ 389,200	\$ 150,000	239,200	\$ 239,200	
16118/01 Road Intersection Improvements - Pope Ave Town of Hilton Head Island, SC	\$ 2,454,600	\$ 368,200	2,086,400	\$ 2,086,400	
14615/23 Installation of Forcemain - Bluebill Ave Collier Cty Bd of Commissioners - Naples, FL	\$ 365,700	\$	- \$ 365,700	\$ 365,700	
14R16/01 Intersection Imp - Immokalee Rd & Collier Blvd Collier Cty Bd of Commissioners - Naples, FL	\$ 7,300,000	\$ 2,190,000	5,110,000	\$ 386,800	
15915/01 Construct 3 Bridges & Roadwork - Burnt Store Rd Lee Cty Bd of Commissioners - Cape Coral, FL	\$ 15,849,600	\$ 7,200,000	3 8,649,600	\$ 714,400	
14617/90 MPS 302 Diesel Bypass Collier Cty Bd of Commissioners - Naples, FL	\$ 336,600	\$ 3,300	333,300	\$ 333,300	
16217/04 Taxiway Paving & Lighting Ridgeland Airport - Jasper County, SC	\$ 4,844,100	\$ 2,906,500	1,937,600	\$ 1,937,600	
16216/01 Runway Ext & Taxiway Infield Drainage Impr Hilton Head Island Airport - Beaufort County, SC	\$ 10,364,400	\$ 3,500,000	6,864,400	\$ 2,245,200	
13218/01 Taxiway Realignment & Drainage Improvemts City of Naples Airport Authority - Naples, FL	\$ 3,676,000	1,102,800	2,573,200	\$ 2,573,200	
14618/19 Road Intersection Improvements - Pine Ridge Rd Collier Cty Bd of Commissioners - Naples FL	\$ 1,428,800	\$ 285,800	1,143,000	\$ 1,143,000	
13 Projects	\$ 11,313,000	\$ 2,828,300	8,484,700	\$ 2,275,000	
NOTE: Columns 2 and 3 to show total contract (or subcontract) amounts. Column 4 to be difference between columns 2 and 3. Amount in columns 5 or 6 to be uncompleted portion of amount in column 4. All	amounts. Column 4 to impleted portion of amore	Column 4 to be difference ortion of amount in column 4. All	TOTALS	\$ 20,197,700	€
amounts to be shown to nearest \$100. The Contractor may consolidate and list as a single item all contracts which individually do not exceed 3% of the total, and which, in the aggregate, amount to less than 20% of the total.	olidate and list as a sing hich, in the aggregate, a	gle item all amount to less than	TOTAL UNCOMPLETED WORK ON HAND TO BE DONE BY YOU	TED WORK ON BY YOU	\$ 20,197,700
			(TOTAL COLUMNS 5 AND 6)	5 AND 6)	as of 04/04/2018

### STATE OF FLORIDA DEPARTMENT OF TRANSPORTATION **E-VERIFY**

375-040-68 PROCUREMENT 01/11

Financial Project No(s):	
Project Description: <u>Downtown Roadway Corridor Improvements RE-BID</u>	
Vendor/Consultant acknowledges and agrees to the following:	
vendon consultant acknowledges and agrees to the following.	

Vendor/Consultant shall utilize the U.S. Department of Homeland Security's E-Verify system, in accordance with the terms governing use of the system, to confirm the employment eligibility of;

- 1. all persons employed by the Vendor/Consultant during the term of the Contract to perform employment duties within Florida; and
- 2. all persons, including subcontractors, assigned by the Vendor/Consultant to perform work pursuant to the contract with the Department.

Comp	any/Firm: ˌ	Quality	Enterprises	USA, Inc.		=	
Autho	rized Signa	iture:	05	Louis J.	Gaudio		
Title:	Vice Pre	sident					
Date:	4/27/18						

Contract No: 3084-18

## DOWNTOWN ROADWAY CORRIDOR IMPROVEMENTS RE-BID ITB Number 3084-18

ITEM#	Description	Unit	Quantity	ī	Jnit Price	Cost
101-1	Mobilization	LS	1	\$	550,000.00	\$ 550,000.00
102-1	Maintenance of Traffic	LS	1	\$	225,880.00	\$ 225,880.00
102-60	Work Zone Sign	ED	11,749	_	0.90	\$ 10,574.10
102-71-12	Temporary Barrier, F&I, Waterfilled	LF	3,600		31.80	\$ 114,480.00
102-71-22	Relocate Temporary Barrier, F&I, Waterfilled	LF	3,600		11.45	\$ 41,220.00
102-74-1	Channelizing Device - Types I, II, DI, VP, Drum or LCD	ED	10,994	\$	1.40	\$ 15,391.60
102-74-2	Channelizing Device - Type III, 6'	ED	3,416	\$	1.65	\$ 5,636.40
102-74-6	Channelizing Device - Pedestrian LCD (Longitudinal Channelizing Device)	ED	23,620	\$	0.75	\$ 17,715.00
102-76	Arrow Board/ Advance Warning Arrow Panel	ED	3	\$	450.00	\$ 1,350.00
102-99	Portable Changeable Message Sign - Temporary	ED	472	\$	19.00	\$ 8,968.00
104-10-3	Sediment Barrier	LF	500	\$	2.55	\$ 1,275.00
104-18	Inlet Protection System	EA	75	\$	223.60	\$ 16,770.00
104-11	Floating Turbidity Barrier	LF	200	\$	10.25	\$ 2,050.00
110-1	Clearing and Grubbing	LS/AC	1	\$	341,200.00	\$ 341,200.00
110-4-10	Removal of Existing Concrete (includes sidewalks, driveways and curbs)	SY	9,220	\$	17.80	\$ 164,116.00
120-1	Regular Excavation	CY	17,980		17.35	\$ 311,953.00
120-6	Embankment	CY	290		39.85	\$ 11,556.50
160-4	Type B Stabilization 12" (LBR 40)	SY	26,011	\$	7.45	\$ 193,781.9
285-709	Optional Base Group 09	SY	26,011	\$	15.75	\$ 409,673.2
334-1-12	Superpave Asphaltic Concrete, Type SP-9.5 (Traffic B), 2"	TN	2,862	\$	147.00	\$ 420,714.00
425-1-201	Curb Inlets, Type P-9 (<10')	EA	52	\$	4,045.00	\$ 210,340.00
425-1-203	Curb Inlets, Type J-9 (<10')	EA	3	\$	4,760.00	\$ 14,280.00
425-1-561	Ditch Bottom Inlets, Type F,<10'	EA	4	\$	4,200.00	\$ 16,800.00
425-1-711	Gutter Inlets, Type V, <10'	EA	1	\$	5,985.00	\$ 5,985.00
425-2-41	Manholes, P-7, <10'	EA	9	\$	8,820.00	\$ 79,380.00
425-2-71	Manholes, J-7, <10'	EA	16	\$	8,400.00	\$ 134,400.00
425-2-72	Manholes, J-7, >10'	EA	2	\$	15,750.00	\$ 31,500.00
425-2-61	Manholes, P-8, <10'	EA	2	\$	4,460.00	\$ 8,920.0
425-11	Modify Existing Drainage Structure	EA	2	\$	2,260.00	\$ 4,520.0
425-5-1	Manholes, Adjust, Utilities (Rim)	EA	9	\$	890.00	\$ 8,010.0
125-6	Valve Boxes, Adjust	EA	5	\$	760.00	\$ 3,800.0
130-175-112	Pipe Culvert, Round, 12"SS	LF	28	_	107.00	\$ 2,996.0
430-175-118	Pipe Culvert, Round, 18"SS	LF	1,817	\$	107.00	\$ 194,419.00
130-175-124	Pipe Culvert, Round, 24"SS	LF	1,035		107.00	\$ 110,745.0
430-175-130	Pipe Culvert, Round, 30"SS	LF	253		131.25	\$ 33,206.2
430-175-218	Pipe Culvert, Other-Elip/Arch, 18"SS	LF	35		130.20	\$ 4,557.0
430-175-224	Pipe Culvert, Other-Elip/Arch, 24"SS	LF	319		131.25	\$ 41,868.7

#### **DOWNTOWN ROADWAY CORRIDOR IMPROVEMENTS RE-BID**

#### **ITB Number 3084-18**

#### **ROADWAY IMPROVEMENTS (cont.)**

ITEM#	Description	Unit	Quantity	Unit Price		Cost
430-175-230	Pipe Culvert, Other-Elip/Arch, 30"SS	LF	534	\$	172.20	\$ 91,954.80
436-1-1	Trench Drain	LF	260	\$	380.00	\$ 98,800.00
520-1-10	Concrete Curb & Gutter (Type F)	LF	15,144	\$	21.95	\$ 332,410.80
520-2	Concrete Header Curb (8" wide, 6" thick)	LF	1,056	\$	27.90	\$ 29,462.40
522-1	Concrete Sidewalk and Driveways (4" thickness)	SY	4,810	\$	58.45	\$ 281,144.50
522-2	Concrete Sidewalk and Driveways (6" thickness)	SY	1,235	\$	75.00	\$ 92,625.00
527-2	Detectable Warnings	SF	1,175	\$	38.00	\$ 44,650.00
570-1-2	Performance Turf, Sod	SY	8,774	\$	3.05	\$ 26,760.70
999-1	Roof Drain Modifications/Curb Openings	EA	27	\$	1,164.00	\$ 31,428.00
999-2	Flexible Sidewalk	SY	17	\$	380.90	\$ 6,475.30
1050-42-202	Utility Pipe, F&I, HDPE, High Density Polyethylene, Watermain (2")	LF	45	\$	76.00	\$ 3,420.00
1050-31-206	Utility Pipe, F&I, PVC, Poly Vinyl Chloride, Watermain (6")	LF	40	\$	113.00	\$ 4,520.00
1080-29-106	Utility Fixture, Mechanical Joint Restraint, F&I (6")	EA	12	\$	900.00	\$ 10,800.00
		Roadway	(page 2) =	\$		1,054,451.50
		Roadway	(page 1) =	\$		3,770,031.80
	Roadway Subto	otal (pages	1 and 2) =	\$		 4.824.483.30

## DOWNTOWN ROADWAY CORRIDOR IMPROVEMENTS RE-BID ITB Number 3084-18

	SIGNAGE AND			_		
ITEM#	Description	Unit	Quantity	U	nit Price	Cost
700-1-11	Single Post Sign, F&I Ground Mount, Up to 12 Sf	AS	62	\$	700.00	\$ 43,400.00
700-1-50	Single Post Sign, Relocate	AS	2	\$	320.00	\$ 640.00
700-1-60	Single Post Sign, Remove	AS	50	\$	37.00	\$ 1,850.00
710-11-290	Painted Pavement Markings, Standard, Yellow, Island Nose	SF	189	\$	6.45	\$ 1,219.05
711-11-123	Thermoplastic, Standard, White, Solid, 12" For Crosswalk and Roundabout	LF	2,428	\$	5.80	\$ 14,082.40
711-11-124	Thermoplastic, Standard, White, Solid, 18" For Diagonals and Chevrons	LF	367	\$	8.50	\$ 3,119.50
711-11-125	Thermoplastic, Standard, White, Solid, 24" For Stop Line and Crosswalk	LF	611	\$	11.40	\$ 6,965.40
711-11-224	Thermoplastic, Standard, Yellow, Solid, 18" For Diagonal or Chevron	LF	45	\$	8.35	\$ 375.75
711-14-160	Thermoplastic, Preformed, White, Message	EA	40	\$	536.00	\$ 21,440.00
711-14-170	Thermoplastic, Preformed, White, Arrow	EA	9	\$	482.00	\$ 4,338.00
711-16-101	Thermoplastic, Standard-Other Surfaces, White, Solid, 6"	GM	1.01	\$	9,650.00	\$ 9,746.50
711-16-131	Thermoplastic, Other Surfaces, White, Skip, 6",10-30 Skip or 3-9 Lane Drop	GM	0.44	\$	2,680.00	\$ 1,179.20
711-16-201	Thermoplastic, Standard-Other Surfaces, Yellow, Solid, 6"	GM	1.93	\$	9,650.00	\$ 18,624.50
	Signing & Pavement	Marking S	Subtotal =	\$		126,980.30

## DOWNTOWN ROADWAY CORRIDOR IMPROVEMENTS RE-BID ITB Number 3084-18

	L	IGHTING				
ITEM#	Description	Unit	Quantity	U	nit Price	Cost
630-2-11	Conduit, F&I, Open Trench	LF	5,207	\$	6.50	\$ 33,845.50
630-2-12	Conduit, F&I, Directional Bore	LF	390	\$	25.60	\$ 9,984.00
635-2-11	Pull & Splice Box, F&I, 13" x 24" Cover Size	EA	86	\$	435.00	\$ 37,410.00
639-1-121	Electrical Power Service, F&I, Underground, (Meter Furnished by Power Company)	AS	5	\$	4,170.00	\$ 20,850.00
639-2-1	Electrical Service Wire, F&I	LF	5	\$	12.20	\$ 61.00
639-3-11	Electrical Service Disconnect, F&I, Pole Mount	EA	5	\$	1,050.00	\$ 5,250.00
654-1-10	In-Roadway Light Assembly, F&I, AC Powered, Complete Assembly	AS	14	\$	39,680.00	\$ 555,520.00
715-1-11	Lighting Conductors, F&I, Insulated, No. 10	LF	5,793	\$	1.15	\$ 6,661.95
715-1-12	Lighting Conductors, F&I, Insulated, No. 8 to No. 6	LF	12,339	\$	1.85	\$ 22,827.15
715-1-60	Lighting Conductors, Remove & Dispose, Contractor Owns	LF	675	\$	0.60	\$ 405.00
715-7-11	Load Center, F&I, Secondary Voltage	EA	2	\$	22,650.00	\$ 45,300.00
715-500-1	Light Pole Cable Distribution System, Conventional	EA	1	\$	710.00	\$ 710.00
715-540-000	Light Pole Complete - Special Design, Relocate	EA	1	\$	2,985.00	\$ 2,985.00
		Lighting	Subtotal=	\$		741,809.60

# BID SCHEDULE - Addendum #2 DOWNTOWN ROADWAY CORRIDOR IMPROVEMENTS RE-BID ITB Number 3084-18

		HAR	DSCAF	PΕ		
ITEM#	Description		Unit	Quantity	Unit Price	Cost
120-1	Excavation	24" deep	CY	335	\$53.00	\$17,755.00
520-2	Curbing					
	8" wide header curb	6" deep	LF	1,056	\$27.90	\$29,462.40
522-2	6" Concrete Sidewalk		SY	244	\$75.00	\$18,300.00
523-1	Patterned Pavement		SY	964	\$76.00	\$73,264.00
526-1-2	Architectural Pavers					
	brick pavers	new	SY	974	\$66.50	\$64,771.00
	concrete pavers	reused	SY	229	\$58.70	\$13,442.30
550-10-919	Barrier Fence		LF	1,612	\$53.70	\$86,564.40
580-1-2	Tree Pit Elements					
	Bonded aggregate		SY	329	\$172.60	\$56,785.40
	Root Cells		CF	4,557	\$32.50	\$148,102.50
	Root barrier	12" deep	LF	1,476	\$6.30	\$9,298.80
	underground tree brace		EA	69	\$38.00	\$2,622.00
751-36-11	Bicycle Racks		EA	57	\$670.00	\$38,190.00
751-37	Trash Receptacle		EA	24	\$1,300.00	\$31,200.00
751-38-19	Bench		EA	62	\$1,350.00	\$83,700.00
		Har	dscape	Subtotal =	\$	673,457.80

# BID SCHEDULE - Addendum #2 DOWNTOWN ROADWAY CORRIDOR IMPROVEMENTS RE-BID ITB Number 3084-18

		LAN	DSCAP	Έ			
ITEM#	Description		Unit	Quantity	ι	Init Price	Cost
	<u>Туре</u>	<u>Size</u>					
570-1-2	Turf						
	Stenotaphrum secundatum		SY	1,220	\$	5.50	\$ 6,710.00
580-1-1	Landscape Complete	Small	LS	1	\$	59,300.00	\$ 59,300.00
580-1-2	Landscape Complete	Large	LS	1	\$	319,700.00	\$ 319,700.00
162-1-12	Prepared Soil Layer						
	Top Soil		SY	1,832	\$	14.50	\$ 26,564.00
	Soil Sterilizer (Dazomet)		LB	415	\$	5.00	\$ 2,075.00
		Lan	dscape	Subtotal =	\$		414,349.00

		IRRIGATIO	N		
ITEM#	Description	Unit	Quantity	Unit Price	Cost
590-70	Irrigation - Venice Ave.	LS	1	\$125,000.00	\$125,000.00
		Irrigation	SubTotal =	\$125	,000.00

# Bid Schedule - Addendum #2 Downtown Corridor Roadway Improvements Re-Bid ITB Number 3084-18

#### **BID SUMMARY**

ELEMENT	SUBTOTALS		
ROADWAY IMPROVEMENTS	\$4,824,483.30		
SIGNAGE AND PAVEMENT MARKINGS	\$126,980.30		
LIGHTING - PHASE 1	\$741,809.60		
HARDSCAPE	\$673,457.80		
LANDSCAPE	\$414,349.00		
IRRIGATION	\$125,000.00		
BASE BID TOTAL			
10% Contingency	\$690,608.00		
TOTAL BASE BID AMOUNT INCLUDING CONTINGENCY	\$ 7,596,688.00		

Add/(Deduct)

ALTERNATE A - 332-1 Full-Depth Pavement Reclamation (8" w/modifier)					
Unit Cost	UNIT COST				
1,778 LF	\$ 6.50	\$11,557.00			
180 LF	\$ 25.60	\$4,608.00			
54 EA	# 435.00	\$23,490.00			
783 LF	月 1.15	\$900.45			
1,464 LF	# 1.85	\$2,708.40			
6 EA	\$ 27,650.W	\$135,900.00			
6 EA		\$2,796.00			
50 EA		\$38,000.00			
Total Alternate B		\$219,959.85			
ete	\$ 95,000.00	\$95,000.00			
ALTERNATE E - Lighting Conduit for Future Use outside Hardscape Areas					
Unit Cost	UNIT COST				
8,796 LF	6.50	\$57,174.00			
750 LF	\$ 25.60	\$19,200.00			
79 EA	ور. 35 كا الله الله الله الله الله الله الله ا	\$34,365.00			
Total Alternate E		\$110,739.00			
42 EA	\$ 4,400.D	\$184,800.00			
	Unit Cost  1,778 LF  180 LF  54 EA  783 LF  1,464 LF  6 EA  6 EA  Total Alternate B  ete  Hardscape Areas  Unit Cost  8,796 LF  750 LF  79 EA  Total Alternate E	Unit Cost  1,778 LF  1,778 LF  180 LF  54 EA  1435.00  783 LF  1,464 LF  6 EA  6 EA  6 EA  7 1 1 1 5  1 1 4 6 1 5  6 EA  7 1 1 1 5  1 1 1 1			

#### Notes:

It is the Contractor's responsibility to verify field conditions and inspect the project site to determine the quantities required to complete the project prior to submitting bid.

Individual quantities and bid items listed must be verified by the contractor prior to providing bid amount

The City reserves the right to modify or remove line items above due to budget constraints.

Any use of Contingency Funds must receive FDOT and City of Venice Approval in Writing as a Formal Change Order.

DATE: 4/27/18		<u> </u>					
SUBMITTED BV:	Ouality	Enternrises	IISA.	Inc.	(Contracto	r Rucinece Nan	ne

#### **NO BID RESPONSE**

**IMPORTANT:** If you choose not to submit a bid for the attached "Invitation To Bid," please complete and return this form only on/before bid closing date. Failure to respond will result in your company being negatively registered as non-responsive. In the event five (5) "no responses" are posted, you will be automatically dropped from out mailing list for future solicitations for the described product/service.

Thank you for taking this opportunity to help us update and improve the solicitation process.

Jpen/(	Jose Date:	April 25, 2018 at 2:00 PM			
Bid Number: Description:		3084-18 Downtown Roadway Corridor Improvements Re-Bid			
Contact: Peter A. Boers, Procurement-Finance Department					
se chec	k the approp	priate response. We respectfully submit "No bid" for the following reason(s):			
1.	We are unable to meet the required delivery date				
2.	We cannot provide a product to meet the required specifications.				
3.	We no longer provide the requested product.				
4.	We do not represent the required brand name product.				
5.	The bid closing date does not allow adequate time to prepare a response.				
6.	The specifications are too restrictive.				
7.	We have chosen not to do business with the City				
8.	Other (feel	free to provide our response on your company letterhead.)			
Company Name Vendor No					
orized	Signature				
Name					
Title					
		Telephone No			
	Number ription act: Perse check 1. 2. 3. 4. 5. 6. 7. 8. pany Number Name	Number: rription: act: Peter A. Boers se check the approp  1. We are una 2. We cannot 3. We no long 4. We do not not 5. The bid clo 6. The specific 7. We have che 8. Other (feel pany Name orized Signature Name			

++ END OF BID FORM ++

#### > Ad Proof

# Haples Baily News

Sales Rep: Mereida Cardenas (N9103)

Phone:

Email:

#### >Account Information

Date: 03/30/18

Account Number: 531973 (N061203)

Company Name: QUALITY ENTERPRISES USA, INC.

Contact Name: a/p 757-548-8000

Email: invoice@qeusa.com

Address: 3494 Shearwater Street, Naples, FL, 34117

Phone: (239) 435-7200

Fax: (239) 435-7202

#### > Insertion Information

This is a proof of your ad scheduled to run on the dates indicated below.

Please confirm placement prior to deadline by contacting your account

rep at .

Ad Id: 1975530

P.O. No.:

Total Cost: \$84.00

Tag Line: Bid # 3084-18

Start Date: 04/05/18

Stop Date: 04/05/18

Number of Timess: 1

Class: 16250 - Public Notices

Publications: ND-Naples Daily News, ND-Internet-naplesnews.com

#### >Ad Proof

I agree this ad is accurate and as ordered.

Quality Enterprises USA, Inc. is seeking quotes from: Certified DBE, WBE, and MBE subcontractors and suppliers for the following project: Sarasota County City of Venice, Florida

Downtown Roadway Corridor Improvements Re-Bid

Bid # 3084-18
Proposals Due April 20, 2018
Interested firms should
submit a detailed letter of
interest which includes:
List of services provided,
copy of Certification, list
of previously completed
projects with references.
Information can be faxed to
(239) 435-7202
An EEO/AAP Employer
April 5, 2018
No.1975530

Thank you for your business. Our commitment to a quality product includes the advertising in our publications. As such, Gannett reserves the right to categorize, edit and refuse certain classified ads. Your satisfaction is important. If you notice errors in your ad, please notify the classified department immediately so that we can make corrections before the second print date. The number to call is 239-263-4700. Allowance may not be made for errors reported past the second print date. The Naples Daily News may not issue refunds for classified advertising purchased in a package rate; ads purchased on the open rate may be pro-rated for the remaining full days for which the ad did not run.

# State of Florida Department of State

I certify from the records of this office that QUALITY ENTERPRISES USA, INC. is a Virginia corporation authorized to transact business in the State of Florida, qualified on May 25, 1995.

The document number of this corporation is F95000002550.

I further certify that said corporation has paid all fees due this office through December 31, 2018, that its most recent annual report/uniform business report was filed on January 24, 2018, and that its status is active.

I further certify that said corporation has not filed a Certificate of Withdrawal.

Given under my hand and the Great Seal of the State of Florida at Tallahassee, the Capital, this the Twenty-fourth day of January, 2018



Ken Detrun Secretary of State

Tracking Number: CC5094720198

To authenticate this certificate, visit the following site, enter this number, and then follow the instructions displayed.

https://services.sunbiz.org/Filings/CertificateOfStatus/CertificateAuthentication



## STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

CONSTRUCTION INDUSTRY LICENSING BOARD 2601 BLAIR STONE ROAD TALLAHASSEE FL 32399-0783

(850) 487-1395

MURRELL, HOWARD J JR QUALITY ENTERPRISES USA, INC. 2827 SILVERLEAF LN NAPLES FL 34105

Congratulations! With this license you become one of the nearly one million Floridians licensed by the Department of Business and Professional Regulation. Our professionals and businesses range from architects to yacht brokers, from boxers to barbeque restaurants, and they keep Florida's economy strong.

Every day we work to improve the way we do business in order to serve you better. For information about our services, please log onto www.myfloridalicense.com. There you can find more information about our divisions and the regulations that impact you, subscribe to department newsletters and learn more about the Department's initiatives.

Our mission at the Department is: License Efficiently, Regulate Fairly. We constantly strive to serve you better so that you can serve your customers. Thank you for doing business in Florida, and congratulations on your new license!



CERTIFIED BUILDING CONTRACTOR MURRELL, HOWARD J JR QUALITY ENTERPRISES USA, INC.

IS CERTIFIED under the provisions of Ch. 489 FS Expiration date: AUG 31-2018 L1608240002196

**DETACH HERE** 

RICK SCOTT, GOVERNOR

KEN LAWSON, SECRETARY

## STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION CONSTRUCTION INDUSTRY LICENSING BOARD

LICENSE NUMBER

CBCA57231

The BUILDING CONTRACTOR
Named below IS CERTIFIED
Under the provisions of Chapter 489 FS.
Expiration date: AUG 31, 2018

MURRELL, HOWARD J JR QUALITY ENTERPRISES USA, INC. 3494 SHEARWATER STREET NAPLES FL 34117







## STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

CONSTRUCTION INDUSTRY LICENSING BOARD 2601 BLAIR STONE ROAD TALLAHASSEE FL 32399-0783

(850) 487-1395

MURRELL, HOWARD J JR QUALITY ENTERPRISES USA, INC. 2827 SILVERLEAF LN NAPLES FL 34105

Congratulations! With this license you become one of the nearly one million Floridians licensed by the Department of Business and Professional Regulation. Our professionals and businesses range from architects to yacht brokers, from boxers to barbeque restaurants, and they keep Florida's economy strong.

Every day we work to improve the way we do business in order to serve you better. For information about our services, please log onto www.myfloridalicense.com. There you can find more information about our divisions and the regulations that impact you, subscribe to department newsletters and learn more about the Department's initiatives.

Our mission at the Department is: License Efficiently, Regulate Fairly. We constantly strive to serve you better so that you can serve your customers. Thank you for doing business in Florida, and congratulations on your new license!



CERTIFIED BUILDING CONTRACTOR MURRELL, HOWARD J JR QUALITY ENTERPRISES USA, ING.

TS CERTIFIED under the provisions of Ch.489-FS. Expiration date: AUG.31, 2018 L1608240002196

**DETACH HERE** 

RICK SCOTT, GOVERNOR

KEN LAWSON, SECRETARY

## STATE OF FLORIDA USINESS AND PROFESSIONAL REGULATION

DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION CONSTRUCTION INDUSTRY LICENSING BOARD

LICENSE NUMBER

CBCA57231

The BUILDING CONTRACTOR Named below IS CERTIFIED Under the provisions of Chapter 489 FS. Expiration date: AUG 31, 2018

> MURRELL, HOWARD J JR QUALITY ENTERPRISES USA INC. 3494 SHEARWATER STREET NAPLES FL 34117





#### **COLLIER COUNTY BUSINESS TAX**

GAL FORM

CORPORATION

**BUSINESS TAX NUMBER:** 

COLLIER COUNTY TAX COLLECTOR - 2800 N. HORSESHOE DRIVE - NAPLES FLORIDA 34104 - (239) 252-2477

VISIT OUR WEBSITE AT: www.colliertax.com THIS RECEIPT EXPIRES SEPTEMBER 30, 2018

LOCATION: 3494 SHEARWATER ST

ZONED: COMM/PUD BUSINESS PHONE: 435-7200 STATE LIC: CB CA57231

DISPLAY AT PLACE OF BUSINESS FOR PUBLIC INSPECTION FAILURE TO DO SO IS CONTRARY TO LOCAL LAWS.

- THIS TAX IS NON-REFUNDABLE -

QUALITY ENTERPRISES USA, INC. MURRELL, HOWARD J JR 3494 SHEARWATER ST NAPLES FL 34117-0000

NUMBER OF EMPLOYEES.

31-40 EMPLOYEES

CLASSIFICATION: BUILDING CONTRACTOR

**CLASSIFICATION CODE: 05104804** 

This document is a business tax only. This is not certification that licensee is qualified. It does not permit the licensee to violate any existing regulatory zoning laws of the state, county or cities nor does it exempt the licensee from any other taxes or permits that may be required by law.

DATE AMOUNT 07/28/2017 72.00

RECEIPT

3147.42

**COLLIER COUNTY BUSINESS TAX** 

**BUSINESS TAX NUMBER:** 

013830

COLLIER COUNTY TAX COLLECTOR - 2800 N. HORSESHOE DRIVE - NAPLES FLORIDA 34104 - (239) 252-2477 VISIT OUR WEBSITE AT: www.colliertax.com

THIS RECEIPT EXPIRES SEPTEMBER 30, 2018

LOCATION: 3494 SHEARWATER ST

ZONED: COMM/PUD BUSINESS PHONE: 435-7200 STATE LIC: CUC 057398

LEGAL FORM CORPORATION DISPLAY AT PLACE OF BUSINESS FOR PUBLIC INSPECTION FAILURE TO DO SO IS CONTRARY TO LOCAL LAWS.

- THIS TAX IS NON-REFUNDABLE -

QUALITY ENTERPRISES USA, INC. MURRELL, HOWARD J JR. 3494 SHEARWATER ST NAPLES FL 34117-0000

NUMBER OF EMPLOYEES:

31-40 EMPLOYEES

CLASSIFICATION: UNDERGROUND UTIL/EXCAVATING CONTRACTOR

CLASSIFICATION CODE: 05102804

This document is a business tax only. This is not certification that licensee is qualified. It does not permit the licensee to violate any existing regulatory zoning laws of the state, county or cities nor does it exempt the licensee from any other taxes or permits that may be required by law.

DATE

07/28/2017

AMOUNT

72.00

3149.42